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1 =1 e J3 54 3 W 2 450 900 A8 AT 10BA 1
2 =gk AR fi FEE 1] 5 W 1 450 450 AR AT 11EA 1
3 =gk AR Fil: A1 i) W 2 450 900 A8 AT 14BA 1
4 =gk AR Euy 5 W 1 390 390 A8 AT 15BA 1
5 =gk TR RIS 5’y W 1 510 510 A8 AT 5L 1
6 =gk AEIERT Mg « b 1 510 510 HE24AT 1OBA 1
7 =gk AEDLR ForgR L] W 1 390 390 AEDEFTABA 1
8 B AN R PRI % P 1 390 390 AR5 1
9 B A RAK LR % L 1 450 450 HRHF2BA 1
10 BN R AR Tl 5’y W 1 510 510 R HFT3BA 1
11 =1 AHK ik g 3 W 1 450 450 A HFI3BA 1
12 A R AR KEA 5 W 1 450 450 R HFT5BA 1
13 BN [EF=2R] FEE L s W 3 390 1170 Al E AT 1BA 1
14 A (D=2 ESAR: 5’y W 1 390 390 Al E AT 1BA 1
15 B AN fATE A TKIR T % X 1 390 390 fATE A 3BA 1
16 =1 fAE AT IR & W 1 390 390 A A 9BA 1
17 ek AR f] it i W 1 390 390 EAA 13BA 1
18 BRI EATAT FKAEE i W 1 450 450 SR 1BA 1
19 =ik B A Y 20 ES| W 1 450 450 SR 2BA 1
20 ERIAA EAAL 8295 L] b 1 510 510 SR 3BA 1
21 BRI ERAT fribeEs 5°q W 1 450 450 SR 9BA 1
22 =1 [HE R T &R L] b 2 390 780 [HE T LA 1
23 =1 [HE R e M S 5’y W 2 450 900 [HE R LEA 1
24 =1 [HE R BT i) b 1 450 450 [HE R LEA 1
25 ERIAA AR LT 5y W 1 390 390 AT 2 A 1
26 =1 AR BI75 75 & W 1 390 390 AR 50 1
27 B AN =N PR % i 2 390 780 —ER8RA 1
28 B AN —EN AR (3BT % L 2 390 780 —ER8BA 1
29 =1 kbR BEA i) W 1 390 390 kLA 250 1
30 =1 ISt RN L] W 1 390 390 Tk LA 3BA 1
31 =1 SN F e 3 W 1 450 450 Tk AT 3BA 1
32 =1 kbR FH IR 5 W 1 510 510 TR AT 6 BA 1
33 ERIAA ST kA s W 1 390 390 KL 8BA 1
34 F=RiIL ! ) TR 5’y W 1 390 390 Ly AT 9BA 1
35 =1 VEFE AT AT} L] b 1 510 510 E [l A 2BA 1
36 ERIAR VEFE AT ik XAL 3 W 1 390 390 VEE A 2BA 1
37 B AN R AT Ik % L 1 390 390 R BT 2B\ 1
38 BRI R AT A % L 3 450 1350 TR B 3BA 1
39 B AN R KT WhE % i 1 510 510 R B 48T 1
10 B AN R AT RN % X 2 450 900 R AT AR 1
11 =gtk R AT g %« W 1 450 450 BT AR 1
42 =ik FHBHAT E = 5 W 1 390 390 FEBEAT LEA 1
43 A FEBAAT JE L s W 1 390 390 FEBEAT 4BA 1
44 AR FHBHAT L7 5 W 2 510 1020 FEBEAT 5 BA 1
15 B A HE A 25 L] b 2 390 780 G 6EA 1
16 BRI ACRITAT IR 5’y [] 1 390 390 FFIAT 1BA 1
47 =1 LEFIAT i 5y [i1] 1 390 390 BRI 1
18 =gk LEFIAT XIFEIL i) [ 2 390 780 R 1
19 =1 BRI AR 5y [] 1 450 450 BRI 1
50 =1 LEFIAT R L] G 2 390 780 BRI 1
51 =1 AEAIAT A 5y [F] 2 390 780 AR 1
52 BRI BRI B 5y [i1] 1 390 390 BRI 1
53 BRI AERAT Bk 5’e =] 2 390 780 AEF 1
54 =gk LEFIAT FH AL 5y [] 1 450 450 BRI 1
55 B A AEAAT [0 = i ] 1 450 450 AEFI 1
56 =1 BRI i 5’y [F] 1 390 390 RN 1
57 B AN A AT BaE % i 1 390 390 i E AT 6L 1
58 B AN AT AR % L 1 390 390 HEPLAT3BA 1
59 AR AT FAERI 5 W 1 450 450 HEDSHTTEA 1
60 ERIAA EAAL fA[ 4% L] b 1 390 390 SRR 14BA 1
61 =1 fAE AT VEREE 3 W 4 450 1800 A E K 5BA 1
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62 =1 fAE AT frr g 3 W 1 390 390 fAE AT 120 1
63 =1 [HE R TR g 5y b 1 450 450 [HE AT 7EA 1
64 =1 AR kR 5’y W 1 390 390 AR 4 A 1
65 B A AT AR % b 2 390 780 AR 13 A 1
66 =1 RAMERT T EiE il b 1 390 390 AR 2 A 1
67 =1 —EM BRI 3 W 2 390 780 —EHI5BA 1
63 =1 VE AT R L] b 1 390 390 VE AT 2 A 1
69 B BHAT 1 s W 1 390 390 FFBEAT 1EA 1
70 =1 ACHITAT FHAE 5y b 1 390 390 FXFIAS 10BA 1
71 =1 WA BER LS W 1 450 450 B LA 4B 1
72 ERIAR AEAIAT AR = 5’y [F] 1 390 390 RS 4BA 1
73 ek FEAAT XIAEIE L] [E] 1 390 390 SEFIAT 4PN 1
74 ERIAA BRI ik 5 5y [F] 1 390 390 HEFNRT4BA 1
75 =1 AR sk A i) W 1 390 390 AR AT 8 A 1
76 B AN A AT FERES =z b 1 450 450 i E AT 12 A 1
77 =01 AEIERT TEE & b 3 450 1350 BT 10BA 1
78 =010 AR Esrdn % i 2 450 900 AR5 1
79 =1 fATE A Tz % L 1 390 390 fATE AT 8BA 1
80 B A fATE A R % L 1 390 390 fTE R 11BA 1
81 B AN fATE A B % X 2 390 780 AT E A 13BA 1
82 ERIAR [HE R R = W 1 390 390 [HE AT 3BA 1
83 =1 kbR BEM 5y b 1 450 450 TR LT 480 1
84 =1 kbR Eaail 5’y W 2 450 900 Tk LA 8BA 1
85 =1 1SN FAETE i) b 3 510 1530 TR 250 1
86 ERIAA TR B 5’y W 1 390 390 TR 1
87 =1 SRS T A & W 1 390 390 LR\ BA 1
88 B FIE SRS TN 5 b 2 390 780 Iy MR JLEA 1
89 BRI SRS T AR i) W 1 390 390 LR 1-BA 1
90 ek VEFE AT TR E 5y b 1 390 390 E el A 2BA 1
91 B AN R AT Witk % X 2 510 1020 R AT 1A 1
92 =1 R AT A JkAE 3 W 2 450 900 AR AT 1A 1
93 BN AR AR % i 1 450 450 R AT 1A 1
94 BRI E=RAYN) RYEFE % P 1 450 450 FIRT5BA 1
95 ek A AR i) [] 2 450 900 H I 6EA 1
96 ERIAA AEAAT BER L] [F] 1 390 390 RIS 1 BA 1
97 ERIAR AEAIAT FH 3R & [5] 1 450 450 RO 1BA 1
98 ek BRI gk i 9 5y [F] 1 390 390 BRI 1BA 1
99 BRI AERAT f£247E 5y [ 2 390 780 LEFIAS ARA 1
100 BRI LEFIAT HER il [] 1 390 390 BRI 1BA 1
101 ERIAA AEFIAY Y 5 E] 1 390 390 AEFIAF 1EA 1
102 =1 LEFIAT 2= A i) [F] 1 390 390 HEFIAT 3BA 1
103 BRI XA R 5 W 1 390 390 TR 2BA 1
104 BN iEE) DL % L 2 390 780 A 34T 15BA 1
105 =1 RAMERT B 5’y W 1 390 390 FAMERT 6 A 1
106 ERIAA AR tHZEFT L] b 1 390 390 RAMERT 12BA 1
107 =1 PEBEAT 7RI} i) W 1 390 390 PFBEATABA 1
108 BRI et AEL 5 W 1 390 390 Ly AT 3BA 1
109 BRI AR N 5y W 1 390 390 AR = BA 1
110 BRI AR i 5y b 1 510 510 EE AT A 1
111 ERIAA AR R 5y b 1 390 390 AR FLBA 1
112 =1 AR HEIEE 3 W 1 450 450 FA2ER LA 1
113 I R AR A | 5’y W 2 450 900 RAR—BA 1
114 =01 EAAL i 23 =z b 1 390 390 A 1
115 BRI [HE R JiAfR 5 W 2 390 780 [HE R 7S BA 1
116 BRI [HE PR 5’y W 1 450 450 IHE AT T A 1
117 ERIAR AR B0 i) W 1 390 390 RAMERT J\ BA 1
118 =1 AW UG 5y b 1 450 450 RAMERT - —BA 1
119 ERIAA AR R i) W 1 510 510 RXHERT FLBA 1
120 =ik —ER Fifg 75 5 W 1 390 390 —ER—BA 1
121 BRI kbR AR R L] b 1 450 450 TR R —BA 1
122 =01 SN 2 & W 1 390 390 TR R = BA 1
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123 =1 SN JEF5 1 & W 2 450 900 TR FLBA 1
124 BRI BRRT &= 5y b 3 390 1170 FERFT A 1
125 BRI BT k=2 e 5y W 1 390 390 TR FLRA 1
126 AN FEEZM Bl 5 W 1 390 390 FERIT—FA 1
127 BRI FRFIAT A E R il b 3 390 1170 FRFIRT— A 1
128 BRI ACRITAT ZFEiRL il W 2 450 900 FXCFIAS I A 1
129 ek WAt TKIREAL 5’y b 1 450 450 B LA —BA 1
130 B AN BLAY & i3t % P 1 390 390 LA PYBA 1
131 =gk WA {EETE 5y b 2 450 900 B AT FLRA 1
132 B A E=RaNN) kR S % L 1 390 390 BRI BA 1
133 ERIAR HIgA SHT 5’y W 1 390 390 E=RAINZAYIN 1
134 =01 FHEEAT ER % i 2 390 780 FHEFT=BA 1
135 =010 HE A B % i 2 390 780 HEER—BA 1
136 =il A BB DL 7 i 1 390 390 HEER A 1
137 B AN HER KF5Y % X 1 390 390 HE R TLA 1
138 =1 LEFIAT kK 3 [5] 1 450 450 A P A 1
139 =1 BRI IR 5y [i1] 1 390 390 AR I A 1
140 BRI HERR HE i 5y [ 1 390 390 AEFIA — A 1
141 =1 BRI 5 Ak i) [] 1 390 390 HEFIR— A 1
142 ERIAA BRI HEA 5 E] 1 390 390 IR — A 1
143 B R4 e Wk 4 W 1 450 450 AT 4BA 1
144 BRI AR AT  ENEN 5 W 2 450 900 AT 4 B0 1
145 BRI A A SR % P 3 390 1170 A E AT 4BA 1
146 BRI AR T i) b 1 390 390 AR AT 3BA 1
147 B AN e frT e e % X 1 390 390 A E AT 3L 1
148 ERIAR e XJEAL 3 W 1 390 390 A8 T 20 1
149 =01 A AT IR % X 2 450 900 A AT 2P0 1
150 BN JiEE) SNl % L 1 390 390 A E AT TR 1
151 BRI AR it i 4 5y b 1 450 450 A8 AT 10BA 1
152 B AN AT VA % X 1 450 450 AT 2P0 1
153 =1 AEIERT iR = W 1 510 510 AEIEFT 1A 1
154 A AT kB 5 W 1 390 390 AT 5 BA 1
155 B AN AR XHDE % P 1 450 450 ERTIBA 1
156 =1 AN fE % i 1 390 390 AR 4B 1
157 =010 R £ % X 1 390 390 R4 1
158 =gk AHK KR AT i) W 1 390 390 R AR1LIBA 1
159 BN KA k41 % i 2 390 780 HRHFT6EA 1
160 BRI AHK K& s W 1 390 390 % B F6BA 1
161 ERIAA EATAT FkkE il b 1 450 450 EFIA 8BA 1
162 =ikt [EF=2R] T IE 8T LS W 1 390 390 AR 11BA 1
163 ERIAR fAE AT LN %« W 1 390 390 A7 A 6 BA 1
164 =1 fATE A FEEE % i 1 390 390 fATE AT 3BA 1
165 BRI fAE AT T£&5 5y W 2 450 900 {755 A 8 A 1
166 ek [HE R T il b 1 390 390 [HEHI3BA 1
167 =010 [HE A BitEpk % b 1 390 390 [HEATIBA 1
168 =1 AR A ES & W 1 390 390 AR 8IA 1
169 BRI RAMERT BHY 5y b 2 390 780 FAMERT 9 A 1
170 =010 AR AEHTHT s W 1 390 390 RAMERT 11BA 1
171 =gk RAMERT K& 5 W 2 390 780 AR 2 A 1
172 =gk AR KI5V 5y W 1 390 390 FAMERT 3 A 1
173 =1 AR HAE L & W 1 390 390 AR 40 1
174 BRI AR AEIETR 5 W 1 390 390 AR 6 A 1
175 BRI AR HLEH i) W 1 390 390 RAMERT 14 BA 1
176 BRI AR pfEd | i) b 1 390 390 AR 7 A 1
177 =ik =EH X i@ W 1 390 390 —ER8BA 1
178 BRI =B TS 5’y W 1 390 390 —E R 1BA 1
179 BRI kbR B o)A L] b 1 390 390 TR 250 1
180 =1 TR AR AR s W 1 450 450 F R HFT9BA 1
181 BRI TR X E T 5y b 1 450 450 F T 6BA 1
182 ERIAA FRHT 4 L] b 1 450 450 F T 3BA 1
183 =1 RN JigE & W 1 390 390 F R TEA 1
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184 =1 TR [ Fis 3 W 1 390 390 TR 2BA 1
185 =ikt et A DA 5 W 1 390 390 LR 9BA 1
186 BRI Rt i % P 1 390 390 MRt 1BA 1
187 =k et 154 75 % L 1 390 390 IR 1A 1
188 =ikt ) R 5’y W 1 390 390 LA 1BA 1
189 ERIAR SRS T il W 1 390 390 LR 11BA 1
190 BRI XA FTE 5’y W 2 390 780 X FI2BA 1
191 B A XTI 5’y W 1 390 390 B LA 4BA 1
192 B AN LAY A % L 2 390 780 HILAT6BA 1
193 B A LAY L % L 1 390 390 B LA 3BA 1
194 ERIAR AT PRE X & W 1 390 390 B LA 3BA 1
195 B FIE WA Bk L] b 3 390 1170 LA 1B 1
196 BRI =) XEE % i 1 390 390 HILAT 2P0 1
197 o FIE ) [T 5y b 1 510 510 B A 3B 1
198 BRI R AT JTENG ) % X 1 450 450 R BT 5L 1
199 ERIAR AT Joi 5 2% i) W 1 450 450 BT 5BA 1
200 BN R AT [ gts % i 1 390 390 R AT 1
201 BN R AT k% % L 1 450 450 R AT 1
202 F=RiIL HUR A PNk & W 2 390 780 HIUR BT 2 A 1
203 BRI R AT 2 % X 1 450 450 TR B 3BA 1
204 =01 AR RS % b 1 390 390 R B 3BA 1
205 I HUR A RYER 5 W 2 450 900 IR AT 3BA 1
206 BRI E=RAYN) AR % P 1 450 450 FIRT1BA 1
207 =ik VAR A 5 W 1 390 390 VAR 1BA 1
208 =1 E=Ra0N) ik TG % X 1 450 450 FIFT2B0 1
209 ERIAR HIgA | 7bid 5’4 W 1 450 450 H K 280 1
210 B FIE E=Ra0N) BT % i 2 450 900 FIFTABA 1
211 BRI FIA 23R % L 2 450 900 FIRT5BA 1
212 =ik VAR L) 5 W 1 390 390 VAR 8BA 1
213 BRI E=RalN) G A % b 2 450 900 EREVNEIIN 1
214 ERIAR HIgA SiEte %« W 1 450 450 H I 8EA 1
215 B FIE E=Ra0N) 754% % i 1 390 390 FIFT6BA 1
216 BN VAR A s W 1 450 450 VAR 6BA 1
217 B A VAR EERR i) b 1 450 450 H IR 9IBA 1
218 B AN E=Ra0N) o3 % X 1 450 450 FIFTIBA 1
219 =1 PHEEAT 2RI & W 2 450 900 PFBEAT3BA 1
220 I FHBHAT PRI 28 5 W 1 450 450 FBEAT 6 A 1
221 B FEBAAT R 5’y W 1 390 390 FFBEAT 6 A 1
222 B AN FHEEAL 2R % i 2 450 900 FHBAFT5BA 1
223 B AN FHEEAL 758 % X 1 390 390 FHBART4BA 1
224 =gtk PEBEAT TR 3 W 1 390 390 PFBEATABA 1
225 B A HER 2R % i 4 450 1800 HER3B 1
226 B AN HEER A % L 2 450 900 HEER3B 1
227 =ik HE A i) 7 P 1 390 390 HER2B\ 1
228 B AN HER Livie - % L 1 390 390 HER5 1
229 =1 LEFIAT A AL 5’y [F] 1 390 390 IR 4BA 1
230 =gk BRI Ak 5’y [i1] 1 390 390 BRI 1BA 1
231 BRI AEFTAL EER 5y [ 1 390 390 LEFIAT 1R 1
232 B A HEFIR HE R i) [E] 1 390 390 LEFIAT 1R 1
233 ERIAA BRI BEX i E] 1 390 390 AEFIAF 1EA 1
234 =gk AEAIAT HE & i) [F] 1 390 390 HEFIAT 2BA 1
235 B HIE AR KEFH 5y [E] 1 390 390 R 1
236 ERIAA NEZAR) HE 5y [ 1 390 390 R 1
237 B A HEAR FER i) [E] 1 390 390 TR 1
238 B A HEAR W& 5y [ 1 390 390 R 1
239 =gk AR LA 3 [5] 5 450 2250 AR 1
240 B A HEAR A 5’8 ] 1 390 390 R 1
241 ERIAA AR HEX i E] 1 390 390 AR 1
242 BRI WA % kB il [] 1 390 390 A 1
243 =1 WA £ 5y G 1 390 390 RS 1
244 =gtk AR Pk i) [F] 1 390 390 AR 1
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245 =1 AR 2T %« [F] 1 390 390 AR 1
246 =gk IR S Gl [i1] 3 390 1170 AR 1
247 =1 NEZAR) tiEAL 5y [ 1 390 390 AR 1
248 =1 IR ZHIE % [ 1 390 390 AR 1
249 ERIAA WA [/BE S il G 1 390 390 AR 1
250 =gk NEZAR] PR A il [F] 1 390 390 AR 1
251 B HIE AR L 5’8 ] 1 450 450 R 1
252 BRI AT [HED 5y [ 1 510 510 HERLR 1
253 B A HEAIR FEMK i) [E] 1 450 450 R 1
254 =1 NEZAN) 555 5y [1] 1 450 450 AR 1
255 =1 AR TRk i) [F] 1 390 390 AR 1
256 =1 WA 2 L] [i1] 1 450 450 R 1
257 BRI AR /i E:) E 2 390 780 HERIR 1
258 =1 IR A1l % [ 1 510 510 AR 1
259 BRI HEAR & L] [ 1 390 390 R 1
260 ERIEE bisRilE) AT 24 % i) [F] 2 390 780 AR 1
261 =1 WA fA] % B L] [i1] 1 390 390 AR 1
262 ERIAA NEZAR] 5 i) [ 2 510 1020 AR 1
263 ek WA PR i) [] 2 390 780 AR 1
264 BRI AR YEE L] [ 2 390 780 R 1
265 =gtk AR YEE i) [F] 1 390 390 AR 1
266 =1 WA R 5y [i1] 1 450 450 R 1
267 =1 NEZAR) LR i) [ 2 390 780 AR 1
268 =1 WA g i) [] 2 390 780 A 1
269 =1 AR = 5y [ 1 390 390 R 1
270 BRI AT HER L] [ 1 450 450 AR 1
271 j=gik AR M 5’8 ] 3 390 1170 R 1
272 BRI AR 2= 1ERK i) [ 2 390 780 HERLR 1
273 =1 WA LS i) [] 2 390 780 AR 1
274 BRI AR % 7k B L] [ 2 390 780 R 1
275 =gtk AR & ki i) [F] 1 390 390 AR 1
276 =1 WA LR L] [i1] 2 390 780 R 1
277 BRI AR P ER i) [ 1 390 390 R 1
278 =1 WA ol i) [] 1 390 390 A 1
279 ERIAA HEAR HEE L] [ 2 390 780 R 1
280 BRI NEZAR] ZHAk & [5] 1 450 450 AR 1
281 ek WA 2AJ 5T L] [i1] 2 450 900 AR 1
282 =1 NEZAR) I i) [ 3 510 1530 AR 1
283 B A HEAIR KA 5y [E] 2 390 780 R 1
284 =1 WA P L] G 2 450 900 RS 1
285 =1 AR N5 %« [F] 1 390 390 AR 1
286 =gk WA PIRE L] [i1] 1 390 390 AR 1
287 =1 NEZAR] P Vi i) [ 1 390 390 AR 1
288 =1 IR AN E 5B [ 2 450 900 AR 1
289 B A AR 2= i E 1 390 390 R 1
290 BRI NEZAR] Zin 3 [5] 1 450 450 AR 1
291 =1 WA %% Gl [i1] 2 390 780 AR 1
292 BRI HEAR I i E 1 390 390 R 1
293 BRI WA [H3E 4 5 [] 2 390 780 AR 1
294 BRI WA P L LS G 2 450 900 RS 1
295 =1 AR PN FE i) [F] 1 390 390 AR 1
296 =1 WA ] it L] [i1] 1 390 390 R 1
297 BRI AR =ik >4 5’e E 1 390 390 R 1
298 =1 IR 2P % [ 1 450 450 AR 1
299 =gk NEZAN] PER L] G 1 450 450 AR 1
300 =gk AR HETE 5’y [F] 1 390 390 AR 1
301 =1 WA B 2EuE L] [i1] 4 450 1800 R 1
302 ERIAA NEZAR) =R i) [ 2 390 780 AR 1
303 B A HEAIR LA M 5y [E] 2 450 900 R 1
304 =1 WA LAEpk L] G 1 390 390 RS 1
305 ERIAR AT {ERE I, 3 [5] 2 510 1020 AR 1
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306 =1 R TR %« [] 1 450 450 AR 1
307 =1 IR 487 Gl [i1] 1 450 450 AR 1
308 =1 NEZAR) PEH i) [ 1 450 450 AR 1
309 BRI AT kR & W 1 450 450 AR AT 1A 1
310 =1 TR [t YA o LS W 1 390 390 A8 AT IBA 1
311 =1 AEIERT Bl il W 1 390 390 AEDSAT 1B 1
312 BRI Jiipagnl Torig L] W 1 450 450 FENLATLLEA 1
313 A R AR TE® s W 2 390 780 R HFT6BA 1
314 AR R AR XA & W 1 390 390 25 F AT LUBA 1
315 =1 fAE AT ™ S LS W 1 390 390 fA] 75 A 3EA 1
316 B g XRE & W 1 390 390 AT E RS L1 1
317 B AN fATE AT 2= BRI % i 1 390 390 fATE T 4BA 1
318 BRI [HE R AE 5’y W 1 390 390 [HE R 5BA 1
319 =1 RAMERT KT 5y b 1 390 390 RAHEAT 13BA 1
320 =1 AR R 5’y W 1 390 390 FAMERT 9 A 1
321 =gk AR 1 % %« b 2 390 780 AR 8 A 1
322 =1 RAMERT 2= 5y W 1 390 390 FAHERT 3BA 1
323 BRI AR JiE i) W 1 390 390 FAHERT 40 1
324 B A BN Tk i) b 2 450 900 =B 280 1
325 BRI —ER Fifi KA L] W 1 390 390 —E R 2B 1
326 B AN KB {7 S % b 2 390 780 TR LR 2B 1
327 BRI kbR REEAE 5’y W 1 450 450 kAT 3BA 1
328 =1 kbR F S s W 1 390 390 R LR 4BA 1
329 BRI kbR B eI 5y W 1 390 390 kLA 8BA 1
330 BRI kbR AR 5y W 2 450 900 R LT IBA 1
331 =1 TR gk 5% 5y W 1 390 390 T F A 5B 1
332 ek BRRT ¥4 5 W 2 390 780 BT 6B 1
333 =1 TR Ik EE e 5’y W 1 450 450 T F A 5B 1
334 =1 FRHE Rk 5 W 1 390 390 FE B TEA 1
335 A SRS i e 5’y W 1 390 390 I ¥EAT 13BA 1
336 ERE SR T % e 1 390 390 SR 5 A 1
337 ERI4H VER A B 5’y W 2 390 780 FEFE A 1EA 1
338 BRI VLl E+5 5’Y Y 1 390 390 VAT 4B\ 1
339 ERE R AT THE % P 1 390 390 R A 3L 1
340 =gk R AT TRAE N % P 1 390 390 R A 4BA 1
341 BRI R AT XIBUEE % e 1 450 450 R AT 5L 1
342 ER4E R AT IR % P 1 390 390 R AT 5L 1
343 =ik R AT TRAR Y P 1 390 390 R A 20 1
344 ERAE R AT Ik % P 1 390 390 R AT 5L 1
345 =gk HER fif k1 £’y b 1 390 390 HE R 1EA 1
346 ERE HE R Sz 5 b 2 390 780 F AR 2B\ 1
347 ER4E HER 75 % P 2 390 780 LSSV 1
348 B A4E STERKE kK X % b 1 390 390 FFEHAT 20 1
349 ERAE FEBAAS REiE Y P 1 390 390 FFEHAT3BA 1
350 =gk PFEEAT MRk 5 % W 1 390 390 PFBHAT4BA 1
351 ERE SHERE AT % b 1 450 450 FPHEHAT5BA 1
352 BN =R JREEgs % pY 1 450 450 EIHLEA 1
353 B A4E FE AV N % Y 1 450 450 H IR 4BA 1
354 ERE E=RaEN) Rkt Y P 1 390 390 =R BTN 1
355 =gk HIgH 5 Al % W 2 390 780 HIGH3BA 1
356 ERE g EEd % e 1 390 390 XA BIN 1
357 =ik g 5455 % Y 3 450 1350 EEREUN RN 1
358 =g SEFIAT e % 1 450 450 SRR 4BA 1
359 gk B AT R 5 W 1 450 450 LA LBA 1
360 =gk Bl Tk E % P 1 450 450 B LA 2BA 1
361 =gk B AT T/ % P 1 450 450 LA 2BA 1
362 ER4E B A SRR % P 2 450 900 B A 3BA 1
363 BRI LA % £’y b 1 390 390 LA 4BA 1
364 ERAE B A AR % P 1 450 450 B A 6BA 1
365 =gk TERIA ZEF £’y b 1 390 390 IERLRT 1
366 AN RIS 51k % e 1 390 390 AR 1
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367 BN AR Y& % i 1 390 390 AR 1
368 B HIE FHEEAL RIEIEEI % i 1 450 450 FHBAFT P BA 1
369 ERI4A [HE R =R s W 1 390 390 [HE R B\ 1
370 B AN RAK ERE % L 1 450 450 A H B IUBA 1
371 BRI kbR 15 T A 5 b 1 450 450 kit —BA 1
372 =1 kbR R il W 1 510 510 TR JLBA 1
373 BRI GinlcOn TE5H L] W 1 450 450 AR A 1
374 =1 AR iKEEES s W 1 510 510 AR = BA 1
375 =ik =B Ml B 5 W 1 450 450 —ER=RA 1
376 BRI AHK kA LS W 1 450 450 R AR ILBA 1
377 =gk ACHITAT THEE 3 W 1 450 450 IR A 1
378 A HER BUSA 5 W 2 510 1020 HER A 1
379 BRI FEBAAT R i) W 2 510 1020 FFBRA FLBA 1
380 B AN fATE A frg i % i 1 450 450 AT E R BA 1
381 BRI FREHT R 5 b 1 450 450 =AU A 1
382 =1 AR XK HEE = W 1 390 390 AR 7S BA 1
383 BN KA s % i 2 510 1020 SRR DAY 1
384 =gk AR BEA s W 1 390 390 AR LA 1
385 BRI [HE R XER$E i) W 2 390 780 [HE A FBA 1
386 A FEBAAT B 5’y W 2 450 900 FHBEAT 7S BA 1
387 B AN fATE A R % i 1 450 450 T E R BA 1
388 I FHBHAT 2k ik 5’y W 1 510 510 FHBEAT T2 A 1
389 BRI kbR TJH i) W 1 450 450 TR —BA 1
390 ek A& E AT TR 5y W 1 450 450 AR A=A 1
391 =L AHK I 5’y ™ 1 390 390 ZRAMTIBA 1
392 =g g SR % b 2 450 900 =R AY N 1
393 ERAE RN BT % % W 1 390 390 FR =L 1
394 =gk XA g 5’y W 1 450 450 RAMER LA 1
395 AN =20 XI| T % Y 2 450 900 B AR LA 1
396 BN [HE K AR 'y W 1 390 390 [HE A —BA 1
397 B A4E AHK F Lk % hd 1 390 390 ARHBILBA 1
398 =Rk PR ER 24 % W 2 390 780 BEMT—FA 1
399 =ik =210 A 5’y Y 1 450 450 B S BA 1
400 =gk g 25 A7 5 D 2 390 780 E A PYBA 1
401 ER4E —EA DR gh 5’y D 1 390 390 —ERILBA 1
402 =g SR T % P 2 450 900 SR —BA 1
403 =gk & AT BE% L W 1 450 450 AR BA 1
404 =gk Bl WA E'Y P 1 450 450 R A 1
405 fegiik RAMEAT S| 5 P 1 390 390 RXERT DY BA 1
406 =1 HER HIEE % W 1 510 510 HER—BA 1
407 B AN FH MEA % Y 1 450 450 R 1
408 =gk & AT ZNER 5y W 1 450 450 AR LA 1
409 =gk ERIAT EEN % P 1 450 450 EAIA 7S BA 1
410 =gk RHK K % P 1 450 450 RHARA—A 1
411 B AN AEAT TR 5 Y 1 450 450 AE LA Y A 1
412 =g BN BRAVE % P 3 390 1170 —ERJ\BA 1
413 =gk R AT PR L W 1 450 450 R AT 1
414 =gk XA i\ A % W 1 390 390 RAREAT+—PBA 1
415 BRI RAMEAT RIS 5’y P 1 450 450 RAMEAT+—PBA 1
416 gk ek TR 5’y W 1 390 390 SRS 1-BA 1
417 ERIA RAVERT Vel 5 P 1 390 390 RAMEAT =B\ 1
418 gk TR SN % W 1 390 390 TR —BA 1
419 =gk AR TR % W 2 450 900 RXER DY BA 1
420 =gk AT TR 5’y P 1 510 510 A PAYN 1
421 ER4E R AT i % Y 2 450 900 R AT A 1
422 A BN X FE 5 P 1 390 390 —ER—BA 1
423 gk AR Tz 5B W 1 390 390 AR -EBA 1
424 =gk TERIAL ZNE % ] 1 390 390 FEFIA 3BA 1
425 =gk B AT B 5’y P 1 450 450 B LA YA 1
426 BN TR B 5 pY 1 390 390 TRBAT = BA 1
427 ERIA AR fA[ g A % Y 1 390 390 AR A=A 1
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428 =gtk FAER Rk %« W 1 390 390 AR =BA 1
429 BRI Jiipagnl AL Gl b 1 510 510 AR BA 1
430 =1 LEFIAT Mg i) [ 2 450 900 SEFIAT 1A 1
431 =il AR BEF5 1% % L 1 390 390 BRI —BA 1
432 =1 e AT fa7 H 3 % X 1 450 450 fAE A A BA 1
433 =gk EAIAT T Mg « W 1 390 390 SR FLRA 1
434 ek EAAL [Z 94 L] b 1 450 450 EAA J\BA 1
435 B AN fATE A T % P 1 390 390 fATE AT FL A 1
136 =1L piavl FEHLT 5y b 2 450 900 AEDSF-BA 1
437 B A fAE AT Tk il W 1 390 390 fA)E A FLRA 1
438 =1 fAE AT BE & W 1 390 390 fAE A = BA 1
439 B FIE FHEEAT eSS % L 2 450 900 FFBEAT LA 1
440 BRI AW G i) W 1 450 450 AR — A 1
141 ERIAA AR R 5’y W 1 450 450 AR -G BA 1
442 =gk LA LA L] b 2 450 900 B LA /S BA 1
443 =gk HE A T i) b 3 450 1350 G A P BA 1
444 I Jiipagnl % 5’y W 1 450 450 AT = BA 1
445 BRI [HE R wBEHE 5’y W 1 390 390 [HE A IO A 1
146 B A E=Ra0N) JATEAT % b 1 390 390 FIRERA 1
447 AN Atk A 5'S W 1 510 510 TR LR 7S BA 1
148 BRI ERAT Wk 5 W 1 450 450 EAA 10BA 1
449 BRI =) (ES L] W 1 450 450 SRR 9BA 1
450 B AN fATE A T3 Bk % P 2 390 780 fATE R 5BA 1
451 =1 e A e 7 i 2 450 900 Al A 4BA 1
452 BRI AR JHIEE 5’y W 2 450 900 R AT 3BA 1
453 ERIAR HIgA o e e 5’4 W 1 510 510 H K 280 1
454 I FHBHAT K 5 W 2 450 900 FEBEAT L6 1
455 ERIAA AR JI 7% 5 W 1 390 390 EAAS 1480 1
456 ek VE A L 5y b 1 390 390 E el A 6 BA 1
457 BRI et i L] b 1 390 390 LRI AT 6 BA 1
458 =1 AR FEER A & W 2 390 780 RAHERT 3BA 1
459 ek AR XSS 5y b 1 390 390 AR 3 A 1
160 BRI EORIAT X2 5y W 2 450 900 EAIA JLBA 1
161 ek TR R i) b 1 390 390 FERFT A 1
162 B A SRS XIBAE % X 1 390 390 e+ BA 1
163 ERIAR —EM OR%E & W 1 450 450 —ER\BA 1
164 =1 fATE AT R % i 2 450 900 fATE AT J\BA 1
165 BRI BLAY ZE % L 1 450 450 HILAT6BA 1
166 =il et fId=EN % i 1 390 390 R 10BA 1
467 =1 RAMERT RIEYE 5y b 1 390 390 AR PO BA 1
168 BRI ERAT JuEEE %« W 1 450 450 SR 6BA 1
469 BRI AR BIKEE 5y b 1 450 450 AR 4 A 1
470 =1 Tk bR AL 5’y W 2 510 1020 TR LA 6BA 1
471 =ik AR fa R 7 P 1 390 390 AR 1
472 ERIAA AR SEAER ks W 1 450 450 HEATA 1
473 =1 AR 2 3 W 1 390 390 TR 1
474 ek AR =T & W 3 510 1530 HEATR 1
475 BN AR 25 i p s W 2 390 780 AR 1
476 =ik WA A% & W 1 450 450 AR 1
477 =ik AR Z RN LS W 1 390 390 AR 1
478 =1 AR PR & W 1 390 390 IR 1
479 BRI WA P ¥ 5 W 2 390 780 R 1
480 BN e e % P 2 390 780 AR = B0 1
481 B A WA K H B 5y b 1 450 450 B LA —RA 1
482 ERIAA AR PNE ks W 1 450 450 AR 1
483 =1 fAE AT il E ¥ 3 W 1 390 390 g AT 11BA 1
484 ek BRRT H 54 5y b 1 450 450 FERAT6BA 1
485 BRI pasnl A i) [ 1 390 390 WA 1
486 BRI ML IR il [] 1 450 450 sl 1
487 BRI ML i AR LS G 2 390 780 pasioanl 1
488 =gtk Pasan R 3 [F] 1 450 450 QLA 1
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489 =gtk Pas N H g 4E %« [] 1 390 390 QLA 1
490 =1 ML Iy 5t 5 [i1] 2 390 780 PR 1
191 =gk Pas Nl Y4 i) [F] 1 450 450 pasioanl 1
492 B A MR L= 3 [E] 1 510 510 paiiZul 1
493 =1 pastanl 75k 5y G 1 450 450 PR 1
494 =01 Pas N Lk il [F] 1 450 450 pasioanl 1
495 =1 ML 55K 5 [i1] 2 510 1020 PR 1
496 =gk Pasnl S i) [F] 2 450 900 pasioanl 1
497 o FIE MR %R i) [F] 1 390 390 paiiZul 1
4198 B A pas N T 5y [1] 1 450 450 Al 1
499 =1 ML g 5 [] 1 390 390 QLA 1
500 =1 ML Lk 5 [i1] 1 450 450 PR 1
501 ERIAA Pasnl SR s [ 2 390 780 pasioanl 1
502 =gk ML DR i) [F] 1 450 450 paii il 1
503 AL LA i % [A] 1 450 450 MLUTHL 1
504 =gk LA el % 1 390 390 MG 1
505 BRI MgAT LR % ] 2 450 900 LAY 1
506 ERI4 LA S 5 2 390 780 PLUGHT 1
507 = LA I AR 5 ] 1 390 390 PLUGHL 1
508 =gk LA CEs % ] 1 450 450 PLUGHL 1
509 =gk LA R % 1 510 510 MLUGHT 1
510 =01 MgAT i) % ] 1 390 390 LAY 1
511 ERIA LA Odg % 1 450 450 PLUGHL 1
512 =Xk P 2u) e 5’y [F] 2 390 780 PLUGHL 1
513 BR4E LA SER % ] 1 450 450 PLUGHL 1
514 =gk LA HRY % 1 450 450 MG 1
515 =L MgAT L) fil it % ] 2 450 900 PLUTHL 1
516 B IS Mgat | BIFEEs | & 1 390 390 QLG 1
517 = LA EEE S 5’y ] 1 390 390 PLUGHL 1
518 R4 LA 2 % ] 2 390 780 PLUGHL 1
519 =gk LA KIERSE 5 1 450 450 MLUGHT 1
520 BRI MgAT rite 5’y ] 1 450 450 LAY 1
521 B A4E LA kA % 2 450 900 PLUGHL 1
522 B A LA Bk 5 ] 1 450 450 MLUGHL 1
523 BR4E LA B K ik % ] 1 450 450 PLUGHL 1
524 =gk LA Bkt % 1 390 390 MG 1
525 =01 LA BKkA % ] 2 450 900 LAY 1
526 B MG LA RAE 5’y 2 390 780 PLUGHL 1
527 = LA o fE S % ] 1 450 450 PLUGHL 1
528 BA4E LA kA= 5’y ] 1 450 450 PLUGHL 1
529 =gk LA I s % 1 450 450 MLUGHT 1
530 BRI MgAT SR % ] 1 450 450 LAY 1
531 B LA KEP 5’y 2 450 900 PLUGHT 1
532 & A LA [HESE 5y [ 1 450 450 PLUGHL 1
533 B LA 542 % ] 2 390 780 MR 1
534 =gk LA FH B =2 % 2 450 900 MLUGHT 1
535 B ANA MgAT eSS % ] 1 390 390 PLUTHL 1
536 B A LA SEW 5’y 2 390 780 QLG 1
537 B A LA 80 5’y ] 2 450 900 MLUGHL 1
538 B R4E LA 5k Rk % ] 1 450 450 PLUGHL 1
539 =gk LA Pl 5 1 390 390 MLUGHT 1
540 BRI MgAT XI5 i % ] 2 450 900 MLUTHL 1
541 ERIA LA KT % 1 390 390 PG 1
542 B ANE LA T % [F] 1 450 450 MLUGHL 1
543 BR4E LA SRR % ] 2 450 900 PLUGHL 1
544 BRI LA ERES 5’y 2 450 900 MLUGHL 1
545 B A MGAT it 5’y ] 1 390 390 LAY 1
516 =ik Hilgr | Bed | B 1 390 390 PR 1
547 A Qeilgty | M | 5 ] 1 390 390 pASITZA ) 1
548 R4 LA U Y 5’y ] 1 390 390 PLUGHL 1
549 =gk LA ¥ it % 1 390 390 MG 1
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550 =1 Pas N Dl i) [F] 1 390 390 QLA 1
551 =gk pas i anl PVEA Gl [i1] 3 450 1350 QLA 1
552 B AN PR BRI % [ 1 450 450 MR 1
553 =gk ML PEHE i) [F] 2 390 780 QLA 1
554 BRI pastanl % 7k B il G 1 390 390 pasioanl 1
555 =01 Pas N Lidkie « [5] 1 450 450 pasioanl 1
556 =gk pas i nl WIEE 5y [i1] 1 450 450 DL 1
557 BRI Pasnl HH R i) [F] 3 450 1350 pasioanl 1
558 BRI Pas Nl ki i) [] 2 390 780 sl 1
559 =1 pas N 54 il [1] 1 390 390 pasioanl 1
560 =gk pasanl WEF 5’y [F] 2 390 780 QLA 1
561 =1 ML kA 5 [F] 1 390 390 pasioanl 1
562 BRI Pasnl MEJ 5y [ 3 390 1170 pasioanl 1
563 BRI pas N &R i) [] 1 390 390 sl 1
564 BRI pas i anl JHA B 5y G 1 450 450 pasioanl 1
565 ERIAR Pasan [HEAE i) [F] 1 390 390 pasioanl 1
566 =ik Mgkt A 5’y E] 1 390 390 MR 1
567 BRI Pas Nl HEL s [ 2 450 900 WA 1
568 BRI Pas N H RS i) [] 2 510 1020 QLA 1
569 =1 ML ik T 5’y G 1 390 390 pasioanl 1
570 A Pas N BRpp A i) [F] 2 450 900 QLA 1
571 BRI pas i anl HEH L] [i1] 1 390 390 pasioanl 1
572 =1 LA LT 3 [ 1 390 390 MR 1
573 =1 ML Gig i) [] 1 390 390 sl 1
574 =010 pas i anl HREEZ % [ 2 390 780 a2 ul 1
575 A Pas N R i) 5] 1 450 450 QLA 1
576 =1 ML =2 5y [i1] 1 390 390 QLA 1
577 ERIAA pasnl [HE% 5’y [F] 1 390 390 paioZul 1
578 =gk ML I XA 5 [F] 1 390 390 sl 1
579 =1 pastanl 5k L] G 1 450 450 pasioanl 1
580 =1 Pas N £y = [] 1 450 450 QLA 1
581 =gk pas i anl SR L] [F] 1 450 450 pasioanl 1
582 =gk Pasnl CY54 i) [F] 3 450 1350 pasioanl 1
583 =gk ML SARW i) [F] 1 450 450 sl 1
584 =1 pas i anl SR 5y G 1 450 450 pasioanl 1
585 ERIAR Pas N ke i) [F] 2 450 900 pasioanl 1
586 =ik Mgkt A 5’y E] 2 390 780 MR 1
587 =010 MR LRz 3 [ 1 390 390 MR 1
588 BRI ML & 5y [] 1 390 390 QLA 1
589 BRI pas i anl FH A 5y G 1 390 390 pasioanl 1
590 =1 Pas N JA B AR %« [F] 1 390 390 QLA 1
591 BRI pas i nl & L] [i1] 1 450 450 DL 1
592 =1 Pas N MER i) [ 5 390 1950 pasioanl 1
593 BRI PR g il [] 2 390 780 sl 1
594 =gk pastanl i1 o5 4 LS [F] 2 450 900 pasioanl 1
595 =1 Pas N ¥ 2 S i) [F] 2 390 780 pasioanl 1
596 =gk pas i anl [l Gl [i1] 1 390 390 QLA 1
597 =1 pas Nl Eigia 5y [ 2 390 780 pasioanl 1
598 =gk PR AL i) [] 3 390 1170 QLA 1
599 BRI ML ot LS G 1 390 390 pasioanl 1
600 =1 pasanl [heia 5’4 [] 1 450 450 QLA 1
601 B AN MR g 5y [E] 1 390 390 a2 ul 1
602 =01 LA Y= =z [ 1 510 510 MR 1
603 =1 ML a3 i) [] 1 390 390 DL 1
604 =gk pas i anl it o 5 L] G 2 510 1020 pasioanl 1
605 =1 pasanl bR i) [F] 2 390 780 QLA 1
606 =1 pas i anl EIE: 5y [i1] 4 390 1560 DL 1
607 BRI pasnl RRSE i) [F] 2 510 1020 pasioanl 1
608 =gk ML HARE AR 5 [F] 2 450 900 sl 1
609 BRI ML HRA LS G 2 390 780 pasioanl 1
610 ERIAR Pasan TP 3 [F] 1 510 510 QLA 1
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611 ERIAR Pas N [N i) [F] 1 390 390 QLA 1
612 =1 ML 5% Gl [i1] 2 450 900 QLA 1
613 BRI PR HKSTAE % [ 1 450 450 MR 1
614 =1L pasianl PEEE i) [E] 1 390 390 WA 1
615 ERIAA pastanl £ 5’y G 3 390 1170 pasioanl 1
616 =gk Pas N ME & [F] 2 390 780 pasioanl 1
617 ek pas i nl T 5y [i1] 2 390 780 DL 1
618 ERIAA Pasnl ] e i) [ 2 450 900 pasioanl 1
619 =1L Pas Nl ikEELT & [E] 1 390 390 WA 1
620 ek pas N |E 5y [1] 1 390 390 pasioanl 1
621 =gk pasanl DM = W 1 390 390 QLA 1
622 BRI AEDLA XD 5 W 1 390 390 FE AT TIA 1
623 ERIAA EAR AEIELE i) W 1 450 450 SRR 9BA 1
624 ERIAA EATAT FEEEF] 5y b 1 390 390 SRR 1BA 1
625 BRI FER ¥ i % X 1 390 390 FEFTIA 1
626 =1 bisRilE) ZE /N 3 W 1 390 390 IR 1
627 BN HE A i 75 22 % i 1 390 390 HER6BA 1
628 BRI HEER X % L 1 450 450 HEER B 1
629 BRI LEFIAT XEA 5y [] 1 450 450 IR P A 1
630 =010 LA B ki % X 1 450 450 s Zul 1
631 ERIAR Pas N H1E %« W 1 390 390 QLA 1
632 BRI PR i 5 W 1 390 390 WA 1
633 BN LA LA % P 1 510 510 MR 1
634 A ML Ly kg 5 W 1 390 390 paii il 1
635 B AN LA O fhge % X 1 450 450 a2 ul 1
636 =1 Pas N it 5 3 W 1 450 450 QLA 1
637 BRI ML HRF 5 W 2 450 900 PR 1
638 BRI pasnl A i) W 1 390 390 DAY 1
639 =il PR it % L 1 390 390 A Za] 1
640 =ikt AT HH (5 % LS W 2 390 780 R 1
641 =gtk AR SR i) W 1 390 390 AR 40 1
642 BN A AT ENE % i 1 390 390 A AT 3L 1
643 B AN A A Nt % P 1 390 390 PTG RIIN 1
644 B AN R BT 7 i 1 390 390 ERT2P0 1
645 B AN AEILR ik g % X 1 390 390 AR5 BA 1
646 =1 AHK FERERE 3 W 3 450 1350 AR HBLTBA 1
647 A R AR A13H 5’y W 1 390 390 R H AT ABA 1
648 =010 fATE A Fiti A= 4L % L 1 390 390 fATE AT 4BA 1
649 B AN fATE A B 7 i 1 390 390 fTE R 1280 1
650 BRI AR AH & 5’y W 1 390 390 SRR TBA 1
651 BRI EATAT EHY 3 W 2 510 1020 SR TBA 1
652 BRI [HE R 2 5’y W 1 390 390 [HE R 5BA 1
653 =gk =B ot s W 1 390 390 —E R 2B 1
654 B A ) it L] W 2 450 900 LA 13BA 1
655 =gk T e AT PR L] b 1 450 450 VEE A 3BA 1
656 BRI AFIAL IR 5’y W 1 390 390 A FIAT 3BA 1
657 B FIE LAY BAE % i 1 390 390 AT 3BA 1
658 BRI B LA ESEEN 5’y W 1 390 390 B LA 2BA 1
659 B AN LAY FEAM % L 1 450 450 AT 4BA 1
660 B AN FHEEAL VY % X 3 390 1170 FHBART5BA 1
661 =1 PHEEAT ik EES 5y W 1 390 390 FEEHAT6BA 1
662 =gk 1 EEAt FET 5 W 2 450 900 FFBAFT2 A 1
663 A FEBAAT %A 55 5’y W 1 390 390 FEBEAT 1EA 1
664 BN AR BRI 7 i 1 390 390 R BF5BA 1
665 =010 R AT Tk EAE % X 1 390 390 R BT 3BA 1
666 =gk AR TER 5’y W 1 390 390 AR AT ABA 1
667 ek AEAIAY ZET 5y [i1] 1 390 390 BRI 4BA 1
668 =1 NEZAR) P REK i) [ 1 390 390 AR 1
669 B A HEAIR R 5y [E] 1 390 390 R 1
670 =1 WA fA] R L] G 1 390 390 RS 1
671 ERIAR AR LI SN i) [F] 1 390 390 IR 1
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672 =1 fAE AT T Z & W 2 390 780 fE A —BA 1
673 B AN fATE A Bl A% % i 1 390 390 fATE AT J\BA 1
674 B AN fATE A A % P 2 510 1020 fATE A FLBA 1
675 =1 e AT FEFE % L 1 390 390 fATE AT A 1
676 B AN fATE A HE DL % X 1 390 390 fATE AT = BA 1
677 =1 SRS AR & W 1 390 390 LR\ BA 1
678 EAIE ML ) X7 5 W 2 450 900 PR 1
679 A AR FE 5’y W 4 450 1800 AR AT 2 A 1
680 =1 AR p et ] i) b 1 450 450 AR AT 1A 1
681 B AN AEILRT W5 % L 2 390 780 AT 9BA 1
682 =gk AEIERT it i) W 1 390 390 AEIEHFT TEA 1
683 A R AR TREM 5 W 1 390 390 KA TBA 1
634 B AN fATE A RN % i 3 390 1170 fATE AT 1A 1
685 B AN fATE A A % i 1 390 390 fATE T 2B\ 1
686 ERIAA BRI = L] b 1 390 390 SRR 13BA 1
687 ERIAR [HE R EXAR i) W 1 390 390 [HE AT 6BA 1
638 ek RAMERT AL L] W 1 390 390 RXMERT 13BA 1
689 ERIAA AR EE2ia i) W 1 390 390 RAMERT LOBA 1
690 =gk AR 40 i) W 2 450 900 AR 12 A 1
691 BRI RAMERT B 5y W 2 510 1020 FAMERT 6 A 1
692 ERIAR SN I EEFS %« W 1 390 390 TR LR 3BA 1
693 BRI kbR kAR i 5y b 1 390 390 TR HEAT 3BA 1
694 BRI SRS AR = W 1 390 390 IR 1RA 1
695 =ik B LA BmHE 5 W 1 390 390 B LAY 5BA 1
696 =gk LA Tk L] b 1 390 390 B LA 1BA 1
697 =1 AR RRE 5’4 W 1 510 510 AR AT 1A 1
698 B AN R AT M % i 2 390 780 R BT 4BA 1
699 BRI VAR FH R 5’y W 1 390 390 H K 3BA 1
700 B A E=RalN) FHHaTE % L 1 390 390 FIFTIBA 1
701 B AN E=RalN) BBt % X 1 390 390 FIFT4BA 1
702 =1 PEBEAT THE i) W 2 450 900 PFBEAT3BA 1
703 ek HER R 5’8 W 1 390 390 G 3BA 1
704 A HER EME 5’y W 1 450 450 HER 1A 1
705 F=RiIL ! BRI A1 5’y W 1 390 390 BRI 4BA 1
706 A HEFIRT LN LS W 1 450 450 IR 1BA 1
707 =gk LEFIAT JEINES i) W 1 390 390 BRI 1
708 BN oAk FAaLr % i 2 390 780 AR 11BA 1
709 BRI AR e 4 5y [ 2 390 780 HERLR 1
710 B AN IR B h % [ 1 450 450 AR 1
711 =1 WA P &N LS G 1 450 450 RS 1
712 =gtk Pas N A 3 [5] 1 450 450 QLA 1
713 BRI pas i nl HEL 5y [E] 1 390 390 WA 1
714 ERIAA Pas N H Z E i) [ 1 390 390 PLEEATAIX 1
715 ek pas N FH FE ¥ 5y [E] 1 390 390 WA 1
716 =ikt AR BRI 5’y W 1 390 390 AR 1
717 =1 AR P 3 W 2 390 780 IR 1
718 BRI ML v 5’y W 2 510 1020 PR 1
719 B AN LA o3 % L 1 390 390 MR 1
720 ek AR BEE 5 b 1 450 450 A E A T2 A 1
721 =ik ML THAE 5’y W 1 510 510 PR 1
722 =01 SN Ediidas 3 W 1 450 450 TR R —BA 1
723 B AN LA Y4 % i 1 510 510 a2 ul 1
724 =01 LA B IEM % P 3 510 1530 MR 1
725 BN PR Y % i 1 390 390 A Zu] 1
726 =1 kbR R 5y b 1 390 390 TR —BA 1
727 =01 SN K = W 1 450 450 TR = BA 1
728 BN A AT NI % i 3 510 1530 A AT 3L 1
729 B AN R T/ % L 2 450 900 AR5 1
730 B AN R P30 5’ W 2 390 780 2R 2B\ 1
731 B A RAR TatE LS W 1 510 510 R HFT6BA 1
732 B A 75 A g 2 4 W 1 450 450 A H KI5BA 1
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733 BN AHK T % i 1 450 450 AR HFT6EA 1
734 ek fE AT FH ] 5y W 1 390 390 Al A SBA 1
735 BN fATE A FK 5 % P 1 390 390 fATE AT TRA 1
736 ek EAAL IR i) W 1 390 390 EAA 10BA 1
737 BRI —ER Fiti 2E B8 5 b 2 390 780 —E R 3BA 1
738 =gk kbR kil A « W 1 390 390 Tk LA 250 1
739 =L TR MEF % b 1 450 450 EISEYNRIIN 1
740 =gk EISEYN I AE % P 1 450 450 FE LR 3BA 1
741 oG FER &5 % P 1 390 390 FEFTIBA 1
742 ER4E FER IS4 5 Y 1 450 450 FERF LA 1
743 ERIA FRA T R £’y b 1 390 390 B 5B 1
744 B A oMM iy 5 W 1 390 390 I FEAT 1A 1
745 R4 SR e 5’y W 1 390 390 LR 6BA 1
746 =ik Ll TR % b 1 390 390 A 20 1
747 ER4E L e B 5 pY 1 390 390 FEFE A 4BA 1
748 EAE XA KB 5’y W 1 390 390 T FIAS 3BA 1
749 B ANE HE R Eel % W 2 390 780 HER6BA 1
750 R4 HER PRt 5’y W 1 390 390 G R 4BA 1
751 ERE HE R &R % X 1 390 390 ESEUAEIIN 1
752 ERAE FHBHAS K 7 % Y 1 450 450 FHBHAT 2BA 1
753 ERIA HIgA K % 1 390 390 H IR 6BA 1
754 B ANE R AYN) L= 5’y [F] 1 390 390 E IR 3BA 1
755 R4 R AT B AR 5’y P 1 450 450 R A 2BA 1
756 BRI R AT i 5’y P 1 450 450 R A 20 1
757 ER4E LA TEF % Y 1 390 390 B A 4BA 1
758 ERIA R LI B % 1 390 390 IERIAT 1
759 B ANE HERIAT RN % ] 1 390 390 AR 1
760 A TERIA g 5’y ] 1 390 390 IERLRT 1
761 AN ) g % 1 450 450 A 1
762 A HERIAT Bk 5’y ] 1 390 390 HEARS 1
763 ERIA AR BB 5’y 1 390 390 HEFIRS 1
764 B A HELAT A Y W 1 450 450 AE AL A 1
765 ERIA AR THT % P 1 390 390 HE LA 7S BA 1
766 =gk RHK YERH % D 1 390 390 RH BB 1
767 =01 RAM ™ 3ii 'y D 1 390 390 RHABABA 1
768 ERI4 A E AT RS 5’y b 1 510 510 A E A = BA 1
769 B AI4E [HE A DR i W 2 450 900 |H7E AT 10BA 1
770 R4 XA FiA % Y 1 390 390 FRAHEAT — A 1
771 BRI AT KK BH & 5’y P 2 450 900 FRAHEAT — A 1
772 gk FISEY FEE % W 1 390 390 AT —FA 1
773 ERIA EISEYN B3 % hd 2 390 780 kAT PUBA 1
774 AN TR 5B % [F] 1 390 390 FRA A 1
775 BR4E FEF ik i 'S b 2 450 900 FER\BA 1
776 BRI TR 2R % P 1 450 450 FEF =B\ 1
7717 gk FER ko 5 W 2 450 900 2 EBA 1
778 ERIA IR TN % P 2 390 780 SR+ —BA 1
779 B A FEFE AT di H 3 5’y W 1 510 510 FEFE AT 1
780 R4 VAT FE% % Y 1 510 510 E A 1
781 =gk g H iR % 1 390 390 RN RN 1
782 gk RN D 5B ] 1 390 390 =R PANIN 1
783 ERIA g iz 5 P 1 390 390 IR —BA 1
784 B A I iy sl 5 ] 1 450 450 =R PANIN 1
785 R4 HIgH a8 5’y W 1 450 450 =Rl S E N 1
786 oG I BN 5’e Y 1 390 390 H IR 2B 1
787 gk RN I 0E 5’y ] 2 450 900 =R PANIN 1
788 A FFEEAT BRI % P 1 450 450 T BEAS FLBA 1
789 B ANE R AT K= % b 1 450 450 R A —BA 1
790 R4 R AT Joi 5 A8 5’y W 1 390 390 R A = BA 1
791 =gk B AT SEEE 5 P 1 390 390 B LA PY A 1
792 gk LA ITHE % W 1 390 390 B LA 7S BA 1
793 =mikE ERIA | M2 H % 2 450 900 SRR —2H 1
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794 BN e Zalln) kA % i 1 450 450 AR 11BA 1
795 =ik AR FHA 5 W 3 450 1350 A RIFT 11 1
796 =1 HE A X BR 1% % P 2 450 900 HEER B 1
797 =il HER BLUR % L 1 390 390 HEER—BA 1
798 B AN HER BT % X 1 390 390 HEER =B 1
799 =1 X FIAT TEINTE & b 2 450 900 FXCFIAS I A 1
800 =01 K Rk = & b 2 390 780 AR = A 1
801 BRI AR B K i) [ 2 510 1020 AR 1
802 BRI AR ¥ kT 5y [] 1 450 450 AR 1
803 B A AT H-K1E 5y [F] 2 450 900 R 1
804 =1 AR 2] & [5] 3 390 1170 R 1
805 B FIE HEARL % Hit L] [E] 3 450 1350 R 1
806 BRI AR HE i i) [ 2 510 1020 AR 1
807 =gk AR oAk i) [] 1 450 450 A 1
808 =gk AR BN, L] G 2 390 780 AR 1
809 =1 bisRilE) 1525 i) [] 2 450 900 AR 1
810 I ML K [ 5’y W 1 390 390 WA 1
811 =1 NEZAR] Sdie 5y [ 2 390 780 AR 1
812 =gk AR AR 5y W 1 510 510 AR 1
813 BRI [HE B %t 5’y W 2 510 1020 [HE A+ 1
814 =1 e Fiti & [ 3 b 1 390 390 A8 5T 13BA 1
815 =1 AT A 5 W 1 510 510 HEDEFT8BA 1
816 =1 AEILRT ik s W 1 450 450 AEIHFT TEA 1
817 BRI AT TiRE 5y b 1 390 390 HEDEFTIBA 1
818 =1 R AR k&t L] W 1 450 450 % B #T6BA 1
819 =1 fAE AT TKZE & W 2 390 780 A E A TEA 1
820 B AAE ‘HAIR ] i@ W 1 390 390 ‘ELAIAT 8B 1
821 BRI [HE R Mk s W 1 450 450 [HE AT IBA 1
822 ek [HE R J {5 B i) b 1 390 390 [HE FTIBA 1
823 BRI [HE FEE LS W 1 450 450 [HE A+ 1
824 =1 [HE R RS & b 2 450 900 [HE A 1
825 BRI AR T L] b 1 450 450 FAHERT 9BA 1
826 BRI AR FEIk 4R i) W 1 450 450 RAMERT LOBA 1
827 =1 RAMERT k& 5y b 1 390 390 FAHERT 1A 1
828 =1 AR e 5’y W 1 390 390 FAMERT 4 A 1
829 =gk SRS {7k A8 i) W 1 390 390 LRI 9BA 1
830 =1 SRS i % i 1 390 390 LR 1BA 1
831 =1 SRS R YL 5’y W 1 390 390 IR 1RA 1
832 =gk FRHT A5 5y b 1 390 390 F R 9BA 1
833 B AN fATE A X 44 % X 1 390 390 AT E T BA 1
834 =1 VEFE AT EEF & b 1 390 390 VEIE A 1EA 1
835 BN HE A iR % i 2 390 780 HEER1A 1
836 =1 FEBAAT bl RE= 5y W 2 390 780 FFBHAT6BA 1
837 =1L FHEEAT o 5B P 1 390 390 FHBAFT5BA 1
838 B A FHBHAT T vl LS W 1 390 390 FEBEAT 3BA 1
839 =1 HIgA TiHE 5’y [F] 1 390 390 H I 8EA 1
840 =105 g e L [ 1 390 390 H I 8BA 1
841 ERAR FIH ZEREE % e 1 390 390 FHIGHLEA 1
842 B AN =RAYN) g% % 1 390 390 H I 8BA 1
843 BRI HERIAT ZFEHAE L [ 2 390 780 AR 1
844 B 4 AR T 5 1 390 390 A 1
845 BNIGE HERIR FENE 5y ] 1 390 390 AR 1
846 =gk TR AT % ] 2 390 780 AR 1
847 =gk SERIAL HH 0 % 1 390 390 SERIA 1EA 1
848 ER4E R AT JH i 5 [ 1 450 450 R A 1A 1
849 ERAE R AT KA 5’y e 1 450 450 R A 3L 1
850 ERAE R AT HEE 5 W 1 390 390 R AT 4L 1
851 =L A B 3 W 1 450 450 B AT 4BA 1
852 =gk B AT S % % W 1 390 390 LA 3BA 1
853 BN LA BEE 5 X 1 390 390 A 2BA 1
854 =gk B AT S % P 3 450 1350 A 2BA 1
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855 =1 ML ZE LR & [F] 1 390 390 MIFHIBIX 1
856 =1 ML i 5y [i1] 1 450 450 QLA 1
857 BRI Pas Nl M E 48 i) [ 1 450 450 WA 1
858 ek pasianl FH 4 i) [] 3 510 1530 QLA 1
859 ERIAA AEILR Ea 5’y b 1 390 390 fiipanl 1
860 =1 bisRiE) P il [F] 2 390 780 AR 1
861 B AN IR 2= R % [ 1 390 390 AT 1
862 BRI NEZAR) 2 T s [ 1 390 390 AR 1
863 ek AR XS & W 2 450 900 AR 12 A 1
864 BN —ER ZEA 5’y W 1 390 390 —ERT4BA 1
865 ERIAR AR FEK 3 W 1 390 390 AR 40 1
866 BRI AR HAEE L] b 1 450 450 AR 5 A 1
867 ERIAA AR BT i) W 1 390 390 FAHERT 6 A 1
868 ERIAA AR fA] 7K 55 5y b 1 450 450 RXMERT 1OBA 1
869 ERIAA AR MER L] b 1 450 450 RXMERT LOBA 1
870 =1 AR 5 & W 1 390 390 RAHERT 5IA 1
871 BRI AR i A L] b 1 450 450 AR 5 A 1
872 =1 kbR JEEES 5’y W 1 450 450 TR 3BA 1
873 BRI kbR T A 5y b 1 390 390 kAT 250 1
874 BRI kbR TAEE LS W 1 390 390 KA 1130 1
875 =gtk SN Wi A= 5% i) W 2 390 780 TR LT IBA 1
876 BRI BRRT M 5 W 1 390 390 DT 8BA 1
877 =1 TR [k 5’y W 1 510 510 FRFT1BA 1
878 BRI TR AR 5y b 1 390 390 F T 6BA 1
879 BRI FREHT FEEH L] b 1 390 390 BT 6BA 1
880 =gk SRS XIER i) W 1 390 390 LR 4BA 1
881 ek VEFE AT AL Mg 5y b 3 450 1350 VEFE A 1EA 1
882 B A THETh s W 1 390 390 B LT 4BA 1
883 =gk LA S HGE i) W 1 390 390 B LA 3BA 1
884 =gk Bl RXE L] b 1 390 390 B 1L 3BA 1
885 ERIAR AT AR 3 W 1 390 390 B A 1RA 1
886 B AN R AT iR i! % i 1 390 390 R BT 6L 1
887 BRI R AT L % P 1 450 450 R BT ABA 1
888 BN R AT Hl % i 1 450 450 R BF5BA 1
889 B A R AT BT % X 1 390 390 R BT 5L 1
890 ERIAR HIgA TR 3 W 1 390 390 H K 3BA 1
891 B A FI BIRTE % i 1 390 390 =RV RN 1
892 BRI B NI % L 1 390 390 EREVTRIIN 1
893 B A E=Ra0N) A 7 i 1 390 390 =RV RN 1
894 ERIAA HIgA HH A L] G 1 450 450 H IR 9IBA 1
895 =01 HIgA B RAE i) [F] 2 390 780 IR TEA 1
896 B A E=RA0N) 2PN % i 1 390 390 =RV RN 1
897 BRI E=RAYN) 6 % L 1 390 390 EREVNRIIN 1
898 AR FHBHAT FAE K 5 W 1 390 390 FEBEAT 4 BA 1
899 B AN FHEEAL el % L 1 390 390 FHBART4BA 1
900 =1 PEBEAT X E 3 5’y W 1 450 450 FPFBEAT5BA 1
901 I FHBHAT ik e 5 W 1 390 390 FHBEAT 5 BA 1
902 B FEBAAT EEHE 5’y W 1 450 450 FEBEAT 1EA 1
903 =1L FHEEAL [FiRiE % L 2 390 780 FHBART4BA 1
904 =gk FHEEAL T A % X 1 450 450 FHBAT 1
905 ERIAR HE A THLE & W 1 390 390 G R 4BA 1
906 BN HE A B % i 1 390 390 HEER 1 1
907 =01 HE A RS % P 1 390 390 HEER 1A 1
908 BN HER i ] 7 i 1 390 390 HER4BA 1
909 B A Ak X EE % X 3 390 1170 HEFRT4BA 1
910 BRI AEFIAL M5 5 [ 1 510 510 HEFIAT 2BA 1
911 BN e Zlln] i % i 1 390 390 AR 1280 1
912 BRI pasnl FH i i) [ 1 450 450 MFTAIX 1
913 BRI ML BN 5y [] 1 450 450 PIFHIDIX 1
914 ERIAA pas i anl L5t L] G 1 450 450 pasioanl 1
915 =1 [HE A 2R = W 1 450 450 R E R 5BA 1
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916 =1 e Tk KAk 3 W 2 510 1020 AR AT TBA 1
917 B AN A A 175 75 % i 2 450 900 A AT 2P0 1
918 ERI4A e b A s W 1 450 450 AR AT 5BA 1
919 BRI AR AL 5y b 1 390 390 AR AT 4 BN 1
920 =ikt R AR THR LS W 1 450 450 R HFT3BA 1
921 BRI AHK BRI 3% « W 1 450 450 R ARF10BA 1
922 =1 HEHK 7y % i 1 450 450 A HBLTBA 1
923 ERIAA AR ik SE e 5’y W 1 450 450 SR 2BA 1
924 B AN fATE A G % L 1 390 390 fATE A 3BA 1
925 =010 fATE A Rk 2R % L 1 390 390 fATE A 3BA 1
926 =1 fAE AT TokiE = W 1 450 450 =BT 1
927 =01 fATE AT R % i 1 390 390 fATE AT 8BA 1
928 BRI [HE R B 5’y W 1 390 390 [HE R 6FA 1
929 ERIAA [HE R FhRZE i) b 2 450 900 [HEH]3BA 1
930 ERIAA [HE I 5 W 1 390 390 [HE 1BA 1
931 =1 RN EHFL & W 1 390 390 F R 9BA 1
932 BN pasanl B % B 1 450 450 PR CIX 1
933 BN HE A B % L 1 450 450 HEER280 1
934 =1 WA R i) [] 3 450 1350 AR 1
935 BRI AT 47 5y [ 1 390 390 R 1
936 ERIEE AR A ORAE %« [F] 2 390 780 AR 1
937 =1 WA g2t 5y [i1] 1 390 390 R 1
938 BRI AR 2 Lt i) [ 1 450 450 R 1
939 BRI AT BT & 5y b 1 450 450 AR IBA 1
940 BRI AEILR TR L] W 1 390 390 ARIEFF11BA 1
941 =1 AEILRT ESia 5’4 W 1 510 510 AEIEHT TIA 1
942 I Jiipagnl TR 5 W 1 450 450 AR AT 2 A 1
943 B JiiRagnl FEH 5’y W 2 510 1020 AT 5BA 1
944 =1L R 54 % L 1 450 450 ERT2P0 1
945 =ikt R AR FkEE LS W 1 390 390 KA BA 1
946 =01 AHK E2LY;) = W 1 510 510 AR HFI1BA 1
947 B AN KA I Btk % i 1 510 510 AR HFT8EA 1
948 ERIAA AR [T 5 W 1 390 390 EAA11BA 1
949 B A PER B ER 5y b 3 390 1170 EAA 10BA 1
950 B A fATE A fa g AE % X 1 390 390 T E R 1280 1
951 ERIAR fAE AT 5137 i) W 1 450 450 Al A 9BA 1
952 B A fATE AT R4 3 b 1 450 450 ATE R 10BA 1
953 =1 fAE AT T ZE M s W 2 510 1020 A E A 123\ 1
954 BRI [HE R A 5 W 1 450 450 [HE R LA 1
955 =010 [HE A XS % b 1 450 450 [HE AT 8BA 1
956 =1 AR R & W 1 390 390 RAHEAT 11BA 1
957 =gk AR [N 5 W 1 450 450 AT 1A 1
958 =ik —EN KA s W 1 390 390 —EMERA 1
959 BRI kbR Jiktot il W 1 390 390 TR AT 9BA 1
960 BRI kbR MR 5’y W 1 450 450 kLAt 450 1
961 =1 TR JuDE R & W 1 390 390 TR 2BA 1
962 BRI BRRT iR 5 W 1 450 450 DT 6BA 1
963 =1 TR B e s W 1 450 450 F AT ABA 1
964 =gk FRHT IR 5y b 1 450 450 FERFT1BA 1
965 B AN et kR % X 1 450 450 I MERT 6 A 1
966 =1 RS S 3 W 1 390 390 LR 3BA 1
967 ek VEFE AT TR IBGE 5y W 1 390 390 VE [l A 5 BA 1
968 ERIAA VEFE AT I 5y W 1 450 450 E [ A 2BA 1
969 ek VEFE AT B v i) b 1 450 450 E el A 2BA 1
970 ERIAA VEFE AT EN 5y W 1 390 390 E el A 1BA 1
971 BRI ARFIAL i & W 1 390 390 A FIAT 4BA 1
972 BRI ) ik T 5’y W 1 390 390 il —BA 1
973 =010 R AT (EEA % L 1 390 390 TR BT 2B\ 1
974 =il AR HE L 7 i 2 390 780 R BT ABA 1
975 =ikt R F 5’y W 2 450 900 IR AT 1A 1
976 =gtk R AT Ak i) W 1 390 390 AR AT 3BA 1
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977 =1 AR itk 3 W 1 390 390 BT 280 1
978 ek HIgA LR Gl [i1] 1 450 450 VAR 8BA 1
979 ERI4A VAR k=l i) [ 1 390 390 VAR 6BA 1
980 B AN E=Ra0N) TS % L 2 390 780 FIRT5BA 1
981 ERIAA VAR dife 5y G 1 510 510 FVARTTBA 1
982 ERIAR HIgA TkFE « [F] 1 390 390 H IR 9IBA 1
983 B AN E=Ra0N) A % i 1 450 450 E=REVTRIYN 1
984 B AN E=RaYN) pIbEeN % P 1 450 450 FIRT 2B\ 1
985 B AN E=Ra0N) Bia 4 % L 1 390 390 =RV 1IN 1
986 B AN E=RaNN) ELE % L 1 450 450 FIRT5BA 1
987 ERIAR HIgA 7k B 3 [5] 4 390 1560 H I 8EA 1
988 BRI VAR it L] [F] 1 450 450 FVART9BA 1
989 B R VAR B 5y [F] 1 510 510 HIH TEA 1
990 B A E=Ra0N) TrBEZE % i 1 390 390 =RV RN 1
991 B A FEBAAT {E[F% LS W 1 390 390 FEBEAT 5 BA 1
992 =1 FPEBEAT MR i) W 2 450 900 PFBEATABA 1
993 I FHBHAT ZER 5 W 1 390 390 FHBEAT 4BA 1
994 A FEBAAT k2= X s W 1 390 390 FEBEAT 7BA 1
995 =1L FHEEAL TkFEH % L 2 390 780 FHBART 2B\ 1
996 B A FEBAAT W IESC LS W 1 390 390 FEBEAT 2 A 1
997 =1 PEBEAT AR & W 1 390 390 PFBEATABA 1
998 =ik FHBHAT TH% 5 W 1 390 390 FHBEAT 5 BA 1
999 A FEBAAT Ak 5’y W 2 390 780 FEBEAT 5 BA 1
1000 BRI FEBAAT k54 5’y W 1 510 510 FEBEAT 6 A 1
1001 A HER TAHRR LS W 2 450 900 HE R 4BA 1
1002 =gk HE A TAF i) W 2 450 900 G R 4BA 1
1003 BRI HER BEIER 5’y W 1 450 450 HE R 3BA 1
1004 B AN HEER Xk % L 1 450 450 HEER6BA 1
1005 BRI HER Tikit & W 1 450 450 HER 1A 1
1006 BRI LEFIAT HEF 5y G 1 390 390 HEFIAT 2BA 1
1007 ERIAR AERIAY ZEKAE %« [F] 1 390 390 HEFIAT 3BA 1
1008 BRI LEFIAT yyia 5y [i1] 1 390 390 BRI 1BA 1
1009 =gk BRI 2= X5 s [ 1 390 390 LA RIN 1
1010 BRI LEFIAT HE % i) [] 1 390 390 BRI 1BA 1
1011 BRI LEFIAT H 1 5y G 1 450 450 IR 1BA 1
1012 ERIAR AEAIAT 2R i) [F] 2 390 780 IR 3BA 1
1013 BN oAk FEHEAE % i 1 450 450 AR 1280 1
1014 BN e Zlln) et} % L 1 510 510 AR 10BA 1
1015 =1 pas N B 5’y [E] 2 390 780 WA 1
1016 =gk pas i anl sk/ANR L] G 2 450 900 pasioanl 1
1017 =gtk Pas N H kA %« [F] 1 390 390 PIFHTAIX 1
1018 BRI pas i nl & 5y b 2 390 780 PLEEATBIX 1
1019 B AN LA F R4 % L 1 390 390 PMHABIX 1
1020 =1 PR ke 5y [] 1 390 390 PR CIX 1
1021 ERIAA pastanl SRt 5y G 2 390 780 PLEEATDIX 1
1022 ERIAR Pas N e e 5’y [F] 1 390 390 PIFHTAIX 1
1023 BRI pas i anl TR Gl b 1 390 390 PLEATBIX 1
1024 BRI pas Nl LA 5’y [F] 2 450 900 PR CIX 1
1025 ek MR LW >4 5’8 ] 1 390 390 PIFHIDIX 1
1026 =gk pas i anl PE Y 5y G 1 450 450 PLEEATAIX 1
1027 =1 pasanl L2 5y [5] 1 450 450 PIFHTAIX 1
1028 BRI pas i nl ZkAE 5y [i1] 1 450 450 PR CIX 1
1029 =1 Pasnl e 5y [ 1 390 390 PR CIX 1
1030 =1 ML ¥ [ 9 5y [] 1 390 390 PLEEADIX 1
1031 ERIAA pas i anl Lpliog L] G 2 510 1020 PR CIX 1
1032 B AN LR AR % [ 1 390 390 A CIX 1
1033 B AN IR P EA % [ 2 390 780 AT 1
1034 =1 NEZAR) I i) [ 1 390 390 AR 1
1035 BRI WA B KK 5 [] 1 450 450 A 1
1036 BRI WA HE4E 5’y G 1 450 450 RS 1
1037 ERIAR NEZAR] CIEES 3 [F] 1 450 450 AR 1
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1038 =1 AR eI %« [F] 1 390 390 AR 1
1039 =1 WA 2L 5y [i1] 1 390 390 AR 1
1040 =gk NEZAR) AR 5y [ 1 390 390 AR 1
1041 =1 IR XK % [ 1 390 390 AR 1
1042 B A HEAR R i E 1 450 450 R 1
1043 =1 AR P 4@ il [F] 1 390 390 AR 1
1044 =1 WA R L] [i1] 1 390 390 R 1
1045 =1 NEZAR) %5 5y [ 1 510 510 AR 1
1046 ek HEAIR FE= i) [E] 2 450 900 R 1
1047 B A HEAR 2t 5’8 E 2 450 900 R 1
1048 =1 NEZAR] 555 5’y [F] 1 390 390 AR 1
1049 B FIE HEAIAR Bkl E:) E 1 390 390 R 1
1050 BRI EATAT Kk i) W 1 390 390 EAA 13BA 1
1051 =ik B AAY T 5 W 3 450 1350 EAA 1230 1
1052 ERIAA AR KA LS W 1 450 450 ERIAT 8BA 1
1053 BRI EATAT FEHEX L] W 1 450 450 SR 1BA 1
1054 ek AR IKER 5 W 2 390 780 ERIAT9BA 1
1055 BRI EATAT T s W 1 390 390 EAA11BA 1
1056 B A TR Vg E:] W 1 390 390 SR TBA 1
1057 ERIAA RAMERT FheE 4 LS W 3 450 1350 FAMERT 8 A 1
1058 =1 AR R E %« W 2 390 780 AR 14 BA 1
1059 ek AR JELETR L] b 1 390 390 AR 5 A 1
1060 B A X ERT ZEUR b’y W 1 450 450 EXMERT 10BA 1
1061 =1 RAMERT PR i) b 1 390 390 AR 14 BA 1
1062 BRI RAMERT Eiyia 5’y W 2 510 1020 FAMERT 1A 1
1063 =1 AEILRT FXon i) W 1 450 450 AEIEHT TIA 1
1064 BN AT Bk 5 % i 2 450 900 HEEATIBA 1
1065 BRI AR R s W 1 390 390 2L A 9A 1
1066 BRI A 2ER SRER R 5 W 1 390 390 A 2ERT9BA 1
1067 B AN R R % X 2 390 780 A 2ERTIBA 1
1068 =gtk fAE AT ZESE i) W 1 390 390 A7 A 4BA 1
1069 B AN fATE AT FEREA % i 1 390 390 fATE T 2B\ 1
1070 B AN fATE A GrE P % P 2 510 1020 fATE AT TRA 1
1071 =k fATE A AL TS 7 i 2 390 780 fATE AT 9BA 1
1072 =1 KA REEE % X 1 450 450 ZRHF10BA 1
1073 =01 AHK ik FE 3 W 1 390 390 AR HBLTBA 1
1074 B A EHK EN:pd L] W 1 450 450 % B # 4B 1
1075 B AN KA VRS % L 1 390 390 RHFTEA 1
1076 BRI AR Evivil il b 2 450 900 AR AT AP0 1
1077 BRI TR B 5’y W 1 390 390 AR AT TBA 1
1078 =1 e X %« W 2 390 780 A8 AT 3BA 1
1079 ek AR FitE 5 W 1 390 390 A8 AT 8 A 1
1080 BN iEE) TRART % L 1 450 450 A E AT TR 1
1081 BRI [HE R TR il W 1 450 450 [HE R TEA 1
1082 BRI [HE ik 5’y W 1 450 450 [EF=ZRENN 1
1083 ERIAR [HE R e i) W 1 390 390 [HE AT IBA 1
1084 BRI [HE R [EPEE 5’y W 1 450 450 [HE T 8BA 1
1085 =1 kbR A s W 3 390 1170 TR 1BA 1
1086 BRI kbR Je A EE 5y b 1 450 450 TR 1BA 1
1087 =gk SRS R L] W 1 390 390 LA 120 1
1088 =01 TR R i) W 1 390 390 B 2B 1
1089 BRI FEBAAT KR 5’y W 1 390 390 FHBEAT5BA 1
1090 BRI FRFIAL RIFIR s W 1 390 390 IR 2BA 1
1091 ek VAR 151 5’y W 1 390 390 VAR 2BA 1
1092 ERIAA B LA EV I 5’y W 1 390 390 B 1L PO A 1
1093 ERIAR HE A WHE 5’y W 1 450 450 LA=LRPAY N 1
1094 B A HER TEE 5y b 2 510 1020 HER 1
1095 ERIAA AHK FamerRi s W 2 450 900 IR BA 1
1096 ERIAA AR RIS 5y b 1 450 450 A& E A T2 A 1
1097 AN A HEFERR 5 W 2 390 780 HRER 7N BA 1
1098 =1 AEIERT AFHE = W 1 450 450 AEIR A 1
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1099 B AN fATE A A % i 2 390 780 fATE R 1—BA 1
1100 =1 fE AT S 5’y W 1 450 450 Al A SBA 1
1101 BRI FEAAT S E:] E 1 390 390 LEFIA = BA 1
1102 ek AT +xr i) W 1 450 450 R A DY A 1
1103 =1 R AT Wif 5’y W 1 390 390 R AT — A 1
1104 BN g lln] Ji AR % i 1 390 390 AR —PBA 1
1105 B AN et F % i 1 390 390 SR+ —BA 1
1106 =g SRS B L P 2 450 900 I ¥R FLBA 1
1107 =gk SR A 5’y K 1 390 390 SR —BA 1
1108 A e ZIE 5’y Y 1 390 390 FRAEAT — A 1
1109 =g BN A5 % Y 1 450 450 —ERJ\BA 1
1110 B A —EA ERER % W 2 390 780 —ERISBA 1
1111 R4 —EM ZREM 5’y W 1 450 450 —ERINEA 1
1112 =gk g R 5’y b 1 450 450 VAR LA 1
1113 gk FISEY Al 57 m 5B W 2 450 900 TR R —BA 1
1114 ERIA EISEYN B % hd 2 390 780 TR 1
1115 B A RAMEAT TEAR 5 W 1 510 510 FRAEAT — BA 1
1116 BRI AR A & i 5’y W 3 510 1530 AR 6 A 1
1117 B 1E AT T % Y 3 390 1170 AT 3BA 1
1118 B 4R FE LR ZEH 5 Y 2 450 900 FEPSAT 20 1
1119 B A LS % P 2 450 900 AEISFTIBA 1
1120 =ik ) B £ % [ 1 450 450 TEAIAT 1
1121 BRI TEFIA LEFE 5’y ] 1 390 390 TERIAT 1
1122 BRI AT =E % 4 450 1800 AR 1
1123 B AR B g % [ 1 390 390 RIS 1
1124 =0k RIS 0 bk % 1 390 390 HZAIN) 1
1125 =ik ) AR % ] 1 390 390 TEAIAT 1
1126 BRI AR Z Kbk % ] 2 390 780 IEAAT 1
1127 A AT B 5 1 390 390 AT 1
1128 BRI HERIR v 5’y ] 1 390 390 AR —BA 1
1129 B Fils HERIAT AT £’y 2 510 1020 HEFIA —BA 1
1130 B [HE K XN % W 1 390 390 [HE 8B\ 1
1131 BRI [HE A EidE 5’y Y 1 510 510 [HE R LBA 1
1132 B FIE FE/NIE 5’y X 1 510 510 RN BIIN 1
1133 =ik P 2u) 5N 5 [ 1 390 390 MLATAX 1
1134 BRI Mg = % 2 450 900 Pyl 1
1135 BRI MY /N2 % [ 1 450 450 PLFRBIX 1
1136 BRI LA e % ] 3 390 1170 MLFATAX 1
1137 BRI LA B 5 P 2 450 900 MLIAIBIX 1
1138 B MgAT 511 'y [ 1 390 390 MIFAIBIX 1
1139 B LA e £’y 2 450 900 MLAIBIX 1
1140 B LA I 5’y W 1 390 390 P gnl 1
1141 BRI XA FEf % Y 3 390 1170 AR 3BA 1
1142 BRI RAMEAT ML 5 P 1 390 390 RHEAT = BA 1
1143 BRI A M 5’y W 1 510 510 A3 A 1
1144 BRI HE A Bkl % P 2 450 900 EASEARTIN 1
1145 =ik HE R RSy % W 1 390 390 HER280 1
1146 BRI HER ZFIETT % W 1 390 390 HE R TEA 1
1147 BRI RHK JkRiE % P 1 390 390 AR =\ 1
1148 B RAM FIEW % W 1 390 390 ZRH RILBA 1
1149 B AHK TKSE T % P 1 450 450 R HAMINBA 1
1150 =ik HELAT BRI % W 2 450 900 HEERTIBA 1
1151 BRI oAl X % W 1 450 450 ISR 2P0 1
1152 B R AT Fik % Y 3 450 1350 AR AT AN 1
1153 B b egnlUn] b 'y D 1 450 450 FARAS 11 B0 1
1154 BRI b egnlln] FIRE % P 1 390 390 AR 11BA 1
1155 B I AT T i 5’y W 2 450 900 M+ — A 1
1156 BRI HIgH SR % [F] 1 450 450 FEIGRLTEA 1
1157 BRI g IS % P 1 510 510 FHIAR = A 1
1158 B AR T 5’y W 1 390 390 AR 3BA 1
1159 =0k =2i0) RAEER 5’y Y 1 450 450 ERIEE 3 A 1
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1160 ERIEE KB HEL % b 1 390 390 R 1 B 75 1
1161 BRI kbR gkt Gl b 1 390 390 EISEYNRIN 1
1162 AN NEZAR) KER s [ 1 450 450 NEZAN] 1
1163 BRI IR =R % [ 1 390 390 IR 1
1164 il HEAR R 5y [F] 4 390 1560 R 1
1165 BN Pas N WS & [5] 1 450 450 pas 1
1166 EAEH ML PR 5y [i1] 1 450 450 PLEEATBIX 1
1167 =ik PR B % P 1 390 390 PEABIX 1
1168 EAEH ML ¥ ot i) [] 2 450 900 PR CIX 1
1169 A pas N HH B il [1] 2 450 900 PLEEATAX 1
1170 EREE ML 54t & [F] 1 390 390 Pas N 1
1171 BRI MR KL 5y [E] 5 450 2250 MR 1
1172 A [HE R Ut s W 1 450 450 [HERI5BA 1
1173 AN [HE R LiEES 5’y W 1 450 450 [HE R 7B\ 1
1174 A [HE E)sS L] b 1 450 450 [HE RS BA 1
1175 EREE [HE R HF5 5 = W 1 510 510 IHE R 1
1176 BRI [HE R TRk L] b 1 390 390 [HE R 2B\ 1
1177 =1 TR Bl 5’y W 1 450 450 F T 8BA 1
1178 BRI LAY 2R % L 1 510 510 AT ARA 1
1179 A Bl ERGEE: LS W 1 390 390 B LA 4BA 1
1180 EREH PEBEAT R 3 W 1 450 450 PEBEAT1BA 1
1181 AN AHK ik B L] W 2 450 900 % 3 #F 3B 1
1182 B R AR ik & & s W 2 390 780 ZRAR11IBA 1
1183 B I AR SRR 7 b 3 390 1170 AT 4BA 1
1184 BRI fAE AT AR = % X 1 390 390 ATE AT IBA 1
1185 EREH fAE AT ERED] 3 W 1 390 390 fA[E A 8 BA 1
1186 B I fATE AT FEI % i 1 390 390 fATE AT 1A 1
1187 =ik fATE A TR % L 1 390 390 fATE AT 2P0 1
1188 B I fATE A FEORAE % L 1 390 390 fATERT6BA 1
1189 il BRI LA i© W 1 390 390 AEFRT 4B 1
1190 BRI AERIAY L %« [F] 1 390 390 RO 1EA 1
1191 B I EA fATHE SC % i 1 390 390 REATABA 1
1192 =ik et BE % P 1 390 390 IR 13BA 1
1193 BRI LR BT 7 b 1 450 450 IR 1230 1
1194 R et EIRE 5’y W 1 390 390 AT 4BA 1
1195 BN —EM B & W 2 390 780 —E R ABA 1
1196 BRI —ER LT A L] b 1 450 450 —E R 4BA 1
1197 BN AR By 5 W 1 390 390 EAA 1230 1
1198 ‘BRI = S e W 1 450 450 S AR 13BA 1
1199 il AR fes i© W 1 450 450 EAA 10BA 1
1200 ENGE EAR B o5 5 W 1 510 510 SRS 1RA 1
1201 EAEH AR B 5y b 1 390 390 FAMERT 5 A 1
1202 HANE AR [t i1 4 s W 1 510 510 AT 14BA 1
1203 EAEH AR R 5y b 1 390 390 AR A8 A 1
1204 f=giks e iAE % L 1 390 390 A E AT 3BA 1
1205 =ik e BRI 5’y W 1 390 390 A8 RT3 BA 1
1206 B I A AT A ¥8 55 % i 3 450 1350 A AT 20 1
1207 AN AR FRE 5’y W 1 390 390 AR A8 A 1
1208 AN AR S JRGE 5y W 1 450 450 AREAT5PA 1
1209 B e ik H % X 1 390 390 A E AT 3BA 1
1210 EREH e B EE 5y W 1 390 390 A8 R 20 1
1211 AN AR AT ik Kt 5 W 1 390 390 [EA (Z=&FE 1
1212 AN AR k75 5’y W 1 390 390 AR A8 A 1
1213 AN kbR X FE 8 5 W 1 390 390 kLR 280 1
1214 =ik EISEn W% % b 1 390 390 Tk AT 9B 1
1215 EREH SN Evs 5’y W 1 390 390 EISEYNESN 1
1216 AN kbR k2R L] b 1 450 450 kLR 3BA 1
1217 A kbR BN i) W 1 390 390 R 120 1
1218 B I AR A B 5y i 1 390 390 IR AL e 33 1
1219 H A piipagnl EuEAN LS W 1 390 390 AR 11BA 1
1220 EREH FAER WRE = W 1 450 450 AR 1
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1221 j=eik:s —EM R = W 1 450 450 —ERTEA 1
1222 AN VAR R Gl [i1] 1 390 390 FVART6EA 1
1223 =ik E=RaYN) HIRE % P 2 390 780 FIATABA 1
1224 BRI IR PN % [ 2 390 780 IR 1
1225 EAEH WA Ll il [F] 1 390 390 R 1
1226 BN NEZAR] Rl il [F] 1 390 390 AR 1
1227 BRI AT Jr/INE 5y [E] 1 390 390 R 1
1228 BRI AR HATE 5y [ 1 390 390 R 1
1229 EAEH WA AL 5y [] 1 390 390 WA 1
1230 A HEAR 1 IE D 5y [F] 1 450 450 R 1
1231 BN AR H A {E 5’y [F] 1 390 390 | R EIREbI 6, 1
1232 AN WA Pk 5’y [i1] 1 390 390 WA 1
1233 A NEZAR) B2 5y [ 1 390 390 NEZAN] 1
1234 EAEH WA SAEE i) [] 1 390 390 WA 1
1235 EAEH pas i anl ELES 5y G 1 390 390 PIUPEEIX A HM 1
1236 EREE Pasan R %« [5] 1 450 450 MIFHIBIX 1
1237 AN pasanl HERTE 5y [i1] 1 450 450 PLEEADIX 1
1238 AN PR LB e 5’y [ 1 390 390 PLEEATAX 1
1239 TN PR 2=k 5y [] 2 450 900 PLREAIDIX 1
1240 EAEH pastanl H & 5y [F] 1 450 450 JE R 1
1241 EREH Pas N 581 %« [F] 1 390 390 MIFHICIX 1
1242 AN PR iKFER 5 [i1] 1 390 390 PIHTAX 1
1243 EAEH Pasnl LEi i) [ 2 450 900 MIEHIDIX 1
1244 =R ML HARE T 5’y B 4 390 1560 PLREABIX 1
1245 BRI pas i anl B EH L] [ 1 390 390 MAFHIBIX 1
1246 =1 Pas N D AR 3 W 1 450 450 QLA 1
1247 =ik —ER JAZEE 5 W 1 390 390 —ER—BA 1
1248 AN FEBAAT R s W 2 510 1020 FEBEAT5BA 1
1249 B I HER 2L % L 3 390 1170 HER2B0 1
1250 BRI AN Taa 3 b 1 390 390 HENJE R A 1
1251 BRI AFIAL & & W 1 450 450 IR 2BA 1
1252 BRI ACHITAT EH 5y b 3 450 1350 FXFIAS 6 A 1
1253 A WA MESH 5’y [ 1 390 390 NEZAN] 1
1254 AN WA A kA 5’y [] 1 450 450 WA 1
1255 A NEZAN] ZHF 5y G 1 450 450 NEZAN) 1
1256 BN AR P xIE 5y [F] 1 390 390 AR 1
1257 AN ML W] 5y [i1] 1 390 390 PLEEATAX 1
1258 B ANEE Mgkt EESR k) [] 1 390 390 Mg FTAX 1
1259 AN ML L5 5 B 1 390 390 PLREATBIX 1
1260 A AR B KR L] [ 1 450 450 R 1
1261 =1 LEFIAT LA %« [F] 1 390 390 RN 1
1262 A PR i 5 W 1 390 390 PR 1
1263 EAEH ML 2 Ar. i) [ 1 390 390 pas Nl 1
1264 =gk NEZAN) AR 5 [] 1 390 390 AR 1
1265 A LA (L3R LS W 2 450 900 B ILAT5RA 1
1266 ENGE HE A R L i) b 1 450 450 HEE R 6BA 1
1267 AN HER kUL 5 W 1 450 450 |k T ELAR T~ 1
1268 AN FEBAAT TH=E 5’y W 1 390 390 FEBEAT 7 BA 1
1269 AN FHBHAT HHEEAE & W 1 450 450 FEBEAT 4BA 1
1270 A R AR k& 5’y W 1 450 450 R ETIPESEANX] 1
1271 EREH e Tk & W 1 390 390 A8 AT 10BA 1
1272 AN AR AT Tih% 5 W 2 450 900 AT 15BA 1
1273 B A A 750 % P 1 390 390 A A6 BA 1
1274 B A A LH%E 7 i 3 450 1350 FEE AT LLEA 1
1275 A piiRagnl EHE LS W 2 450 900 HRMATIBA 1
1276 EREH AEIERT ok & W 1 390 390 HEIEIEARE TG 1
1277 AN piipagnl ENiTS 5 W 1 390 390 AT 4PN 1
1278 AN AEILRT BN 5’y W 1 390 390 AT T BA 1
1279 AN AT g 5 W 1 390 390 AT 6 A 1
1280 EAEH AEILR ZAELR L] W 1 390 390 FEDLHE2PA 1
1281 EREH fAE AT % o 3 W 1 390 390 fAE A 4 BA 1
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1282 EREH fAE AT [ i) W 1 390 390 SR 1280 1
1283 B I fATE A THRF % i 1 390 390 fATE R 6 A 1
1284 AN LEFIAT HH 7k i) [ 1 390 390 RIS 1RA 1
1285 AN BRI SR i) [F] 1 510 510 RIS 1EA 1
1286 =ik R AT IR % X 1 390 390 HCR AT 6BA 1
1287 EREH [HE R HREREL il W 1 390 390 [HE R 3BA 1
1288 AN [HE R BEK 5 W 1 450 450 [HEFTIBA 1
1289 AN [HE R TZE i) W 1 450 450 [HE AT 10BA 1
1290 R [HE A I Y7 3 b 1 510 510 )RR 1
1291 A [HE JAE 5’y W 2 510 1020 [HEFTIBA 1
1292 j=eik:s [HE R fifI X 3 W 1 450 450 [HE R 4B\ 1
1293 B A N HE o % i 3 450 1350 ERTIBA 1
1294 =ik R XFLZE % i 1 390 390 A 2ERTBA 1
1295 fEwilst AR Hk A i) b 1 390 390 AEIESEBIX 1
1296 il SRS TR L] W 2 390 780 LA 11 B0 1
1297 BRI SRS ENEE i) W 1 390 390 LR 13BA 1
1298 fEwilst SRS [(EEaN 5’8 W 2 450 900 A 7B 1
1299 AN ) REE 5’y W 1 390 390 IR 1250 1
1300 TN —EM Bz 5 W 1 390 390 —ER4BA 1
1301 A —ER il K 5% LS W 1 390 390 —ER3BA 1
1302 EREH VEFE AT 25T %« W 1 450 450 VEIE A 5 BA 1
1303 BRI VEFE AT Vi ZE i L] W 2 450 900 VEE A 480 1
1304 A VAR FE s W 2 510 1020 VAR X 1
1305 EAEH A % i) [F] 3 450 1350 VAR 6EA 1
1306 A EAR TatE LS W 1 450 450 SR 6 A 1
1307 =R EAA YRR 3 W 2 390 780 O TAT/NX 1
1308 AN SN L6 5y b 1 450 450 kLRt 4BA 1
1309 EAEH ST (R 5’y W 1 450 450 TR 1BA 1
1310 EAEH AR Fili 8 58 & W 1 390 390 RAMEAT 11EA 1
1311 A RAMERT kA LS W 1 390 390 RXMERT 11 BA 1
1312 EREH NEZAR] o 3 [F] 1 450 450 AR 1
1313 B I AT BN % [ 1 390 390 IR 1
1314 EAEH NEZAR) Eana i) [ 1 450 450 NEZAN] 1
1315 AN WA Fik=x 5 [] 1 390 390 WA 1
1316 EAEH pas i anl 5 L] G 2 390 780 MEATDIX 1
1317 ERIEE Pas N R 5’4 [F] 1 450 450 MIFHIDIX 1
1318 AN pas s nl HE2 L] [i1] 2 450 900 pastsanl 1
1319 EAEH AEIERT 2k 5 1% s W 2 390 780  [HEMATSBA 1
1320 EAEH ML I XA 5 [F] 1 390 390 MIFHIDIX 1
1321 BRI pas i anl DME L] [ 1 450 450 MHFTCIX 1
1322 BN Pas N PR %« [F] 1 390 390 MIFHTAX 1
1323 AN PR A IS Fifi 5 [i1] 1 390 390  [HFPEWARDKX 1
1324 BRI LA [ZE] % [ 2 390 780 Jia] J5i =B 1
1325 AN B LA ik /N 5’y W 2 450 900 B LA 20 1
1326 A B LA B S LS W 2 390 780 SR LA 1
1327 =ik PEBEAT [ ovin:-! = W 1 450 450 PFBEAT 2B\ 1
1328 AN FHBHAT EEFS 5’y W 2 390 780 FEBEAT 4BA 1
1329 AN R AR T 5’y W 1 390 390 AT 1
1330 B I RAK Bk % L 1 390 390 EREAHAM3E 1
1331 =ik AR iR LS W 2 450 900 HEXREAX 1
1332 EREH AEIERT 2Tk i) W 1 390 390 AEIEFT5BA 1
1333 B A fATE AT  laaki % b 1 390 390 A E A 1
1334 EAEH AR ik i s W 1 450 450 FHAEACR AT 5B 1
1335 EAEH AR PR 5y W 1 510 510 AR AT 18 1
1336 B RE AT i PN i % b 1 390 390 B AR E A 1
1337 EREH AR A1 3 W 1 390 390 FAERIBA 1
1338 AN BN TR 5’y W 1 390 390 [HTPWmASsAE 1
1339 =ik et oYy % L 2 390 780 L ERT 8 BA 1
1340 B SRS iy % i 1 390 390 |IW&AXBENY 1
1341 A VE AT R 5’y W 1 390 390 BRI A 1
1342 EREH Pasan L i) [F] 2 390 780 MIFHTAX 1
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1343 ENGE Pas N K H i) [] 1 450 450 MIFFICIX 1
1344 AN ML o Gl [i1] 1 390 390 PLEEATAX 1
1345 EAEH Pas Nl P R na 5’y [ 1 450 450 MYFIBIX 1
1346 AN ML P LY & [] 2 390 780 BRI 1
1347 BRI EATAT TAEE il W 1 390 390 BRIAT 5 A 1
1348 EREH SN 23 & W 1 450 450 Tk LAt 4BA 1
1349 AN kbR ERET L] W 1 510 510 T AR s 1
1350 ENGE AR 2 i) [ 2 390 780 WERIA 1125 1
1351 AN WA BE 5y [] 1 450 450 AT 3505 1
1352 BRI NEZAN) ZiEE 5y [F] 2 390 780 WERIAT 1775 1
1353 BRI NEZAR] i & [5] 1 390 390 AR 1955 1
1354 EAEH HEAIAR H kY 5y [E] 2 450 900 WA 1915 1
1355 AN LA L5 s W 2 390 780 B LT 4BA 1
1356 AN LA ER NI 5 W 3 390 1170 LA PO RA 1
1357 A HER TR LS W 1 390 390 EA=EaNLTIN 1
1358 BN FEBAAT Bsr i 3 W 1 450 450 FEBEAT 1BA 1
1359 AN AHK XIE = 5 W 1 390 390 R AR ILBA 1
1360 B I AT MR % L 1 450 450 HEE R = BA 1
1361 AR i A [t 5 5y b 1 450 450 A8 A 6 A 1
1362 A TR AN BT LS W 1 450 450 AT 1OBA 1
1363 B A A FEH % i 1 390 390 AR AT 20 1
1364 AN AR AT Fifi & 5 W 1 510 510 AT 12BA 1
1365 B I fATE A Higs % P 1 450 450 fATE R BA 1
1366 B fATE A fa g % i 1 390 390 fATE R 1—BA 1
1367 =ik fATE A Jii 2457 36 % X 1 510 510 fATERT6 A 1
1368 BN AR AT = 3 W 2 450 900 AR AT LA 1
1369 EAEH R AT FINBH 4 % i 1 450 450 R AT 2B\ 1
1370 EAEH [HE R KR 5’y W 1 450 450 [HE AT 6BA 1
1371 EANE SRS 2 % W 1 390 390 R\ BA 1
1372 A I i 5B Y 1 390 390 SRS 5B 1
1373 B —EA g 5 b 1 390 390 —ER =R 1
1374 B R4 ITES” o¥ 5y ] 2 390 780 IES 7 asa 1
1375 A TESY = % 2 450 900 WEY LR 1
1376 BRI IIES7] N 5 W 1 450 450 IES7L5] 1
1377 A NES7] 5 g bk % [F] 2 510 1020 IIES R 1
1378 TR FRIAT KL% 5 P 1 450 450 EARERA 1
1379 B 4 ACHIAT Tk 7 Bk i© W 2 390 780 FRAR —BA 1
1380 BRI EISEYN sk E T £’y b 1 450 450 TR = BA 1
1381 B EISEYN iz 5’y W 1 450 450 FRULR LA 1
1382 A IS k244 £’y b 1 450 450 kR FHBA 1
1383 B EISAN THE% 5’y P 1 390 390 TR+ —BA 1
1384 A RAMEAT [T % Y 2 450 900 FRAHEAT 3 A 1
1385 BRI [HE AT ik Tk % P 1 390 390 [HE )\ BA 1
1386 B TERIAL R 5B ] 1 390 390 SEFIAS 1A 1
1387 BRI WEFIA HEF £’y [ 1 450 450 TR 1
1388 BRI AR BRIy 5’y 2 390 780 AR 1
1389 B 4 HEAIAS FIES 5’y ] 1 450 450 HEAIRS 1
1390 B LA MR % 1 450 450 ML X 1
1391 B A E AT Bk % W 2 450 900 T E R ALBA 1
1392 A A E AT Ea % W 1 450 450 fAE R A BA 1
1393 TR Al THE 5 W 2 390 780 Py AN 1
1394 BRI A E AT S % W 1 390 390 e A —BA 1
1395 BRI A E AT T % P 2 510 1020 AE A+ BA 1
1396 =ik IR kA K % W 1 510 510 b egnlln ] 1
1397 A ERIAT 3 % Y 1 390 390 EAIA 3BA 1
1398 BRI FRIAT E Sy 5’y e 1 390 390 TR+ —BA 1
1399 A I KK 5 Y 1 450 450 FEIR A 1
1400 B g TS £’y b 1 450 450 RS EIN 1
1401 =ik XA Y F % P 1 390 390 AP =B\ 1
1402 BRI AR A IS % Y 1 450 450 A& AT TLBA 1
1403 TR R AT KE 5 P 1 450 450 HUR A TLIA 1
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1404 BN EAAL B & b 1 390 390 EAA A —BA 1
1405 AN AR [ Sid 5’y W 1 510 510 A ER A 1
1406 =ik PHBEAT BERTE 58 W 2 510 1020 FFBHILBA 1
1407 BRI LAY PR % L 1 450 450 LA 250 1
1408 EAEH RIS Axif il G 1 450 450 AHEFNAT I A 1
1409 BRI AR 055 = E 1 450 450 R 1
1410 AN WA ik vk L] [i1] 2 450 900 WA 1
1411 B I E=RaYN) AL E R % P 1 510 510 FIHRT—BA 1
1412 EAEH WA SRR 5 W 1 390 390 Bl L BA 1
1413 EAEH VE AT BE LS W 1 510 510 E B A Y A 1
1414 BN g ) 7 3 W 2 390 780 Al E A —BA 1
1415 AN AR AT TRIE 5’y W 2 390 780 i AT A 1
1416 EAEH e Fifi Bt 5’y W 2 390 780 AR B 1
1417 AN [HE R EEF 5’y W 1 450 450 [HE A ILBA 1
1418 A VAR T LS W 3 390 1170 FVAR )\ BA 1
1419 BN VAR EA0 & W 2 390 780 FVAR A 1
1420 BRI IE37] e 5y [F] 1 390 390 ES k2 1
1421 AN NE37] OER s [ 3 450 1350 [iPEsmd sz 1
1422 BURIAE FEBAAT TR 5y W 2 390 780 FFBEAT 7S BA 1
1423 A FEBAAT HEE LS W 2 390 780 FFBHAT 7S BA 1
1424 BN Pk EAT HEE & W 1 450 450 R E AT = BA 1
1425 fEwilst —ER 2R 8 L] W 2 510 1020 =E R 1
1426 BRI WA B 5’y W 2 390 780  HiEAElEI0TE 1
1427 BRI AT 2=k 5y b 1 510 510 BCRAT — A 1
1428 BRI NEZAN] H 18 L] [ 1 450 450 R 1
1429 EREH PHEEAT TR I 3 W 2 450 900 FFEHAT PG A 1
1430 BRI FEBAAT JE 155 5’y W 1 450 450 FEBEAT 7S BA 1
1431 BRI FEBAAT Tk i) W 2 390 780 FEBEATJ\BA 1
1432 =1L Pas Nl 2L 5y [F] 1 450 450 PLEEATDIX 1
1433 BRI pastanl LEmM L] [ 1 390 390 MHEFIDIX 1
1434 EREH SN X (i 3 W 2 450 900  [HFFEPRI8SH 1
1435 BRI EISEYN KTt % b 2 450 900 [Fili/hX205HRy 1
1436 AN ARFIAL S 5’y W 1 450 450 FRFNES 75 BA 1
1437 BN AR T2 % i 1 450 450  |[FEMEFESEE] 1
1438 B R —EN FHEA L] L 1 450 450 i b 20 5 4% 1
1439 =1 IIES7] SRR 3 W 1 390 390 gy — R 1
1440 =gk [HE R fify—ng 5 W 1 390 390 V] fH 20 ] 1
1441 BRI [HE R wAE 5’y W 1 390 390 [HE R\ BA 1
1442 BRI AR i % b 1 510 510 MR X R R AT 1
1443 EAEH HIgA 20005 5y G 2 390 780 FVARILBA 1
1444 EREH RN 0 AE i) b 1 390 390 FRAT A 1
1445 AN —ER THhE 5 W 1 390 390 —E AT BA 1
1446 AN [HE R A 5y W 1 390 390 [HE AT\ BA 1
1447 AN [HE R fifg M 4 5 W 1 450 450 [H A I A 1
1448 =0k AR A TR TR % b 1 390 390 A A AT AL A 1
1449 ‘B ) (i % e 1 390 390 A LA 1
1450 =ik SHEEKE ] % P 1 390 390 PHBHAS —BA 1
1451 BRI A E AT TR % W 2 390 780 AR BA 1
1452 BN B AT sk K % P 2 450 900 A BA 1
1453 =ik A E AT T % P 1 390 390 fE R 1 =B\ 1
1454 BN AHK s 5’y W 1 450 450 ZRHRABA 1
1455 BRI I v 5 W 1 390 390 SRR —BA 1
1456 A AR A TR £’y b 1 510 510 il PAN N 1
1457 B ITESY oS 5 1 450 450 WE A SOR 1
1458 gL HER ATAE % P 1 390 390 HHER—FA 1
1459 BN FFEEAT B3 £’y W 1 390 390 FHEHAT —BA 1
1460 BRI PFEEAT 7KF L 5 W 1 450 450 FHRHAT A 1
1461 A AHK ik 2 % W 1 390 390 R HAMINBA 1
1462 B Al sk EF 5’y N 2 450 900 HEXAT A BA 1
1463 B 4 HEAIA BRI 5’y [ 1 450 450 IEAAT 1
1464 BRI Tk i % b 1 450 450 FRIAT A 1
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1465 EREH PEBEAT [ %« W 1 390 390 FSHRHAT A 1
1466 AN FHBHAT ¥MIiEH 5’y W 2 450 900 FEBEAT5BA 1
1467 EAEH EAAL Fifi i 5’y W 1 390 390 SRR — A 1
1468 EAEH AR BT i) b 1 390 390 RAHEAT A 1
1469 EAEH VEFE AT Eia 5y W 3 390 1170 VEFE AT A 1
1470 EREH TR IR « W 2 450 900 FERAT B\ 1
1471 BRI WA ZEHEAL L] W 1 390 390 AR 7S BA 1
1472 AN I e 5’y W 1 450 450 B LA LA 1
1473 AN AR HEAR & W 1 450 450  |REDXS1E 1
1474 =ik A AT i 5 [ % b 1 450 450 AR —BA 1
1475 EREE e RIFEFE i) W 1 390 390 TR WAN N 1
1476 B A MR ONE 5y [E] 1 390 390 LR 1
1477 =tk VAR T 5’y [ 1 450 450 BLVR =BA 1
1478 EAEH WAt kG4 i) W 1 390 390 Bl L BA 1
1479 A B LA 315 5’y W 1 450 450 LA A 1
1480 EREE AT fo.$iT] i) [F] 1 390 390 B —BA 1
1481 AN WA b 5y b 1 390 390 B LA = A 1
1482 AN HER JE Fi 5’y W 3 450 1350 HERARA 1
1483 BRI HER 2R % L 3 390 1170 HER B 1
1484 A HER T2 LS W 2 390 780 LSRN LTIN 1
1485 EREH HE A TR i) W 2 390 780 EASYRILTIN 1
1486 B I HER kA B % i 1 390 390 HER6BA 1
1487 A FEBAAT JCRAE 5’y W 2 390 780 FFBHAT T BA 1
1488 AN FEBAAT e 5’y W 1 390 390 FFBHAT 7S BA 1
1489 A FHEEAS NV S s 1 390 390 FPHBAKS—BA 1
1490 EREH AHK X4 % i) W 3 390 1170 AR ABA 1
1491 AN R AR MHE 5’y W 1 450 450 R AR ILBA 1
1492 A TR ik it s W 1 390 390 RN PAN N 1
1493 AN AR Ay & W 1 390 390 TR PAN N 1
1494 f=giks A AT SNl % X 1 450 450 A E AT TBA 1
1495 EREH e iti L [ 3 W 1 450 450 S RAX K 1
1496 AN AR AT TiRE 5’y W 1 450 450 AR AT 4P\ 1
1497 B A A [k 05 % P 1 390 390 AEEA =B 1
1498 AN AT THA i) W 2 450 900 IR 6 A 1
1499 A piiRagnl T HfE LS W 1 450 450 AT 3BA 1
1500 EREH AEILRT T i) W 2 390 780 AEIR T —BA 1
1501 AN Jiipagnl Fon4R 5 W 1 450 450 AR BA 1
1502 A JiiRagnl Tide s W 1 390 390 ARATIBA 1
1503 AN AT THE il W 1 510 510 HEAT 6 A 1
1504 EAEH AR ETEPN L] G 1 450 450 RS — BA 1
1505 EREH NEZAR] CE2ia S [F] 2 390 780 AR 1
1506 AN (D=2 A=A 5 W 2 450 900 AL E AT = BA 1
1507 BRI fATE A FEEH % L 1 390 390 fTE AT 2P0 1
1508 B I fATE A AT 7 P 1 450 450 AATE A Y A 1
1509 A [EF=2R] £ LS W 1 450 450 Al E AT 1EA 1
1510 =ik TR R 5’y W 2 450 900 FRAT7S A 1
1511 AN BRRT HB 5 5 W 2 390 780 FEZRTILBA 1
1512 AN BRHT P 5’y W 1 390 390 1
1513 B I AEFIAT 2R i) [E] 2 390 780 AEFRIA =4 1
1514 A [HE B 5y W 2 450 900 [HE AT\ BA 1
1515 EREH [HE R g 1e & W 1 390 390 IEE=EEN N 1
1516 fEwilst R AR 5 W 3 390 1170 BFIR A —PBA 1
1517 =ik et AsEER % P 1 390 390 L MERT A BA 1
1518 B I et k4 E 7 i 2 390 780 I MERT 6 A 1
1519 =ik et AR % X 2 390 780 IR 7 A 1
1520 BN RS TR Bt i) W 1 390 390 L MRS 1B 1
1521 AN SRS X E R 5 W 1 390 390 I A I A 1
1522 A SRS EVNe s W 3 450 1350 1
1523 BRI et Rz % i 1 390 390 IR LA 1
1524 A —EN B 5’y W 1 450 450 —ERTLBA 1
1525 EREH —EH 24 %« W 1 390 390 —ERINBA 1
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1526 EREH —EM X1 [ 5 %« W 1 390 390 —EMTBA 1
1527 =k IIESY 452 5 [A] 1 390 390 ES7] 1
1528 AN Wiy | TN | 4 = 2 390 780 3723 E 1
1529 BRI 7 e AT gk 5’4 W 2 390 780 VE e A 1
1530 A VEFE AT T 5y e 1 390 390 VEFE A 2 A 1
1531 4 VAT ZFEER % e 2 390 780 VE A 1 BA 1
1532 BRI HIH SE 5 [E 1 390 390 EI R ILEA 1
1533 AR HIgA Eoes & [ 1 390 390 E=RAYNPAYIN 1
1534 =0k I Rk % [A] 3 390 1170 EHIR LB 1
1535 B HIgA EPi % 1 450 450 B SEA 1
1536 FEwill: VAR BiiFe 5 [ 1 450 450 FLVAR = BA 1
1537 A g HH 4 i % [A] 1 390 390 EHIR LB 1
1538 BRI4E =R F Bk 5’y he 1 390 390 YR PUBA 1
1539 BN HIgA TR R * W 1 390 390 E=REEILTIN 1
1540 [EEL E=RANN) EEH % X 2 390 780 ERGYE TN 1
1541 =0k ERAT EAyCN % b 2 450 900 ERA 1A 1
1542 AR ERAL KR il N 1 390 390 B BA 1
1543 ‘EAIEE ‘AR RIE 5 W 2 450 900 EAIAT 12BA 1
1544 EL [EC] X2 5 % W 2 390 780 B FIA 8BA 1
1545 B EAA IR 5’y W 1 390 390 EAIR 3BA 1
1546 R4 il bk 5 [ 1 390 390 FRFIAT A 1
1547 A AT it 4 % [ 3 450 1350 AR 2 A 1
1548 A ARHIAT KR % he 1 390 390 AR 2 A 1
1549 R TR RS JE * W 2 390 780 AL 7S A 1
1550 BRI kbRt e 3 W 3 390 1170 I SEYNRSIIN 1
1551 =0k IS R L ™ 1 450 450 EISEYNEIIN 1
1552 A FRALRE i 5 X 1 450 450 e 1
1553 R SN TR 5’4 W 1 450 450 veeyn] {H 20 el 1
1554 B A4 Tkt AR GE C:l P 1 390 390 FRALATTIA 1
1555 =0k XA EREE L P 1 390 390 XA DU A 1
1556 BRI XA fE2ETE S I 1 450 450 EAEAT A 1
1557 B FI4H SEFIAL g5 iy [l 1 390 390 1
1558 B LA YT L) W 1 390 390 LA —BA 1
1559 =gk s ik % X 1 390 390 LR —BA 1
1560 =gk s EIRENI % X 1 390 390 LR —BA 1
1561 EREE B AT FEE2 il L 1 390 390 B =BA 1
1562 AR A LR 5y I 1 390 390 Bl = BA 1
1563 A B A TRHFEA % e 1 390 390 AT NN 1
1564 =0k B AT ZEH L P 1 390 390 B A 1
1565 AN LA i) 5’4 W 1 390 390 B LA 7S BA 1
1566 vl LA THR & W 1 390 390 LA A 1
1567 =0k LA R A L ™ 1 390 390 HOL R ZSBA 1
1568 [EEL A [ % I 1 390 390 HEM—BA 1
1569 AR HE A Z= 3 W 1 390 390 HER—EA 1
1570 L HE A S %7 X 1 390 390 AR B 1
1571 =0 PHEEAT A % b 1 390 390 FHEHAT FBA 1
1572 AR PHEEAT AR 5y N 1 390 390 PHRHAT F1 A 1
1573 A FHEHAT ik S A % e 2 390 780 FHEHATZSBA 1
1574 =0k FHEHAT TH L N 2 390 780 FHEHAT FLBA 1
1575 AN FHEEAT XA il W 2 390 780 FFRHAT —BA 1
1576 AR FHEEAT BT Gl W 1 390 390 FHEHAT 1A 1
1577 =0k PHEEAT BIEZE % e 1 390 390 FPHEHAT PYBA 1
1578 BRI FHEEAS XKD 5 % I 1 390 390 FHBAS FLBA 1
1579 ‘B I FHEEAL HE % I 1 390 390 FHBART B 1
1580 =0k FHEHAT FEL Ei) e 2 390 780 FPHEHAT PYBA 1
1581 =0k PHEEAT HE TR % e 1 390 390 FHEHATAEBA 1
1582 AR PHEEAT B 5 b 2 390 780 PHRHAT F1 A 1
1583 A FHEHAT Tl % e 1 390 390 FHEHAT 7S BA 1
1584 =0k FHEHAT fERAE % P 1 390 390 PHBHAS—BA 1
1585 B AHK R % P 2 450 900 AR H AU BA 1
1586 fEwill: A FEER & W 1 390 390 A AT — A 1
1587 =0k AR A AR L ™ 1 390 390 AR —BA 1
1588 BN AR A TF#F 3 e 1 390 390 A A B 1
1589 =itk iE) &EiE & W 1 390 390 A F B 1
1590 B A4 GizPaul i 75 & P 1 390 390 A PAT A 1
1591 B bioPaul &M % e 1 390 390 HEDAT 1B 1
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1592 EL: el E kS e 5y L 2 390 780 fAE R 1230 1
1593 BRI AL AT 5y X 1 390 390 fAE A 1230 1
1594 4 AL AT B 2 M % ™ 1 390 390 fAE R A BA 1
1595 BRI fr[E AT iRl il W 1 390 390 R[S 2 A 1
1596 EAEH Al AT 15k Gl b 1 390 390 fE A 13BA 1
1597 TR AL E AT kM % P 2 390 780 AE R FLBA 1
1598 A AERAT g & [F] 1 390 390 BRI =B\ 1
1599 B TERIAT R E'Y e 1 390 390 AEFRS YA 1
1600 E A BRI XN 55 5’y W 1 390 390 SEFIAT PY A 1
1601 HAEE A F A W7 YL z ™ 1 390 390 AEFIAT DY A 1
1602 AR A H+% 5% L 390 390 AEFRE— A 1
1603 =R 20 T2 2 7 I T 1 390 390 TERR— B\ 1
1604 AR A Ak AR U 2 390 780 R —FA 1
1605 =ik A i) b [ 2 390 780 AT T1 A 1
1606 THIEE AR A HH 53 % 5 W 1 390 390 AR AT T A 1
1607 EANE [HE A fifl 2% 7 Y W 3 390 1170 IER=2RNLTIN 1
1608 FERAlL::! [HEH kA 7 W 1 390 390 [H 2 A 1 A 1
1609 EANE [HE A k75 1 © W 1 390 390 [HE AT 7S A 1
1610 THIEE HE ] if & F 5y e 1 390 390 [H7E A — BA 1
1611 HAEE LR A BVALUE] 3 1 390 390 LRI 5N 1
1612 FERAlL::! I W] ETiAE % W 1 390 390 R e N 1
1613 EANE I A %2 X W 1 390 390 I A — A 1
1614 THIEE I MR ek % W 1 390 390 EHZNIN 1
1615 EANE I A X &3 X W 1 390 390 L N 1
1616 TAIEE I A T iME % W 1 390 390 Ly A — A 1
1617 E AR I A 373 X W 1 390 390 I AT = A 1
1618 =L IES: Rk 0 1 390 390 ES7) 1
1619 EANH el A R AE &® e 1 390 390 VE A A — A 1
1620 EANE VE [l A PN BN 0 e 2 390 780 v Fel A 1 BA 1
1621 A VE B A EIRE © e 1 390 390 VEBE A — A 1
1622 EANEL XA Pl e 5y W 1 390 390 PR S\ BA 1
1623 EANH el A P HAR 5 e 1 390 390 VE e = A 1
1624 EANEL VE [ A Y& 5’y W 1 390 390 VE el s DU A 1
1625 =ik I /M z [ 1 390 390 EEILEA 1
1626 THIEE AR it % 1 390 390 =RV NN 1
1627 AN A F= i W 2 390 780 =AY AN 1
1628 EANEL SN XI5 5k % 1 450 450 =AY PANIN 1
1629 =ik I ki) 5y [ 1 390 390 =RAY NN 1
1630 THIEE AR HhEy 5y 1 390 390 AR —BA 1
1631 ‘E AR EIH I IE 3% s W 1 390 390 =AY NN 1
1632 =L DA A 5 1 390 390 SLUFATAX 1
1633 =R M FH A [E [E] 2 390 780 MIFEFTBIX 1
1634 THIEE LA Ll s 1 390 390 QLA CIX 1
1635 Rk M SE AR © [] 1 390 390 MIABIX 1
1636 EANEL pasiiN H A X 1 390 390 MBI 1
1637 Rk M =y X [] 1 390 390 MIFATAX 1
1638 EANEL LA P kL 5 2 390 780 1 Ji FL 1
1639 EANH =R TH Y W 1 390 390 SRR 11BA 1
1640 THIEE TR e Jriin 5y e 1 390 390 AT = A 1
1641 EANH kL k¥ Y e 1 390 390 i LA\ A 1
1642 THIEE Tkt LS s W 1 450 450 gt 8 BA 1
1643 EANH XA X X W 1 390 390 XA 45 A 1
1644 THIEE A % HLAK 5 W 1 390 390 AT —BA 1
1645 EANH XA FAAX &® e 1 390 390 XA+ —BA 1
1646 THIEE A HER RS 5 e 1 450 450 RXHEAT 7S BA 1
1647 EANH XA HEFE Y W 2 390 780 XGRS 14 BA 1
1648 BRI XA & 5 W 1 390 390 e LA 1
1649 =ik X TR B b} P 2 390 780 AT —BA 1
1650 B 4 XA {5 EE S X L 390 390 X AT J\ A 1
1651 AR A a] e 5 L 1 390 390 B A 1A 1
1652 E A —ER BER s W 1 450 450 —E R PUBA 1
1653 BRI ACHIAT X e E'Y e 1 390 390 TR —BA 1
1654 EAEH HigAT /B Gl [F] 1 450 450 EI R JLEA 1
1655 TR g 2= A A 5’y e 1 450 450 E=REpRLTIN 1
1656 E A FHBHAT HE S 5’y W 1 450 450 P BH A P A 1
1657 B PHEEAT X175 % P 1 390 390 FHHAT =B\ 1
1658 EAEH PHEEAT ezt « b 1 510 510 FPHEHAT JLBA 1
1659 BRI il pEZi3 % P 1 390 390 # LA ZSBA 1
1660 BRI HE AT KR 3 W 1 390 390 FERISEA 1
1661 B WUR A 5 % P 2 390 780 HUR B LA 1
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1662 AN kbR Wi 3 W 1 450 450 LA — A 1
1663 B 14 =B il (2 L P 2 390 780 —EA R 1
1664 AN FERE TiRE 5y W 1 510 510 TR BB 1
1665 A A E AT P % b 1 390 390 TRBEAT 1
1666 AN AR LRE Gl W 1 450 450 XM 5 A 1
1667 B A E AT XI| % X 1 390 390 BT 3BA 1
1668 BRI AT /N 5 W 1 390 390 TR 2B\ 1
1669 =0k R AR % 1 390 390 WEFIAT 20 1
1670 AN AR AT T AGE 5’y W 1 450 450 AR AT 4P\ 1
1671 B R AT EENM % b 1 450 450 R AT 3 A 1
1672 AN VE AT 5 Gl B 1 450 450 VEFE A 3BA 1
1673 =L FEFE AT I fi % 2 390 780 TEBAAS 1BA 1
1674 ekt VAR B EM & ] 1 450 450 EYAR LA 1
1675 B LA eSS L 1 390 390 MR AKX 1
1676 BRI SRS 2= ik 5’y W 1 450 450 2 =t 1
1677 =0k R AT JAH % P 1 450 450 AR A 1
1678 AN FEBAAT AT 5 e 2 450 900 ST\ BA 1
1679 =0k FFEEAT FRIBUR L P 1 450 450 FFBEAS J\BA 1
1680 R AT kg 5 W 1 390 390 FEXA 1 —BA 1
1681 A oAl fifl - 5% L P 2 510 1020 HEDLHT N BA 1
1682 BRI VAR 5458 Gl B 2 390 780 B TBA 1
1683 =0k FFEEAT gk i % b 1 390 390 FEBEAS 3BA 1
1684 BRI kbR ShEA 5 W 1 450 450 FHBEAS3BA 1
1685 =L RIS 170 5 1 450 450 kA L4BA 1
1686 BRI AR FME 5’y W 1 390 390 BAPER 6 BA 1
1687 BRI4E [HE AT [ 57,9'8 L X 1 510 510 IHEHT 6 A 1
1688 fEwilst VAR Wk At 5’y B 1 390 390 BRI\ 1
1689 B EIRT B/NE his & 1 450 450 FIRLEA 1
1690 B AN IHE R e 5’y e 1 390 390 [HE R —BA 1
1691 B P 4L “© & 2 450 900 LA 1
1692 A AR Bk 5 [F] 1 390 390 HEAIAT 1
1693 BN AR T4 S b 1 390 390 SRR\ A 1
1694 A FHHAS kgkE 5 e 1 450 450 FHEAT FLBA 1
1695 BN LA R L b 1 450 450 L FBA 1
1696 AL [(TEA T 5 e 1 390 390 B+ —BA 1
1697 A [TER E&A4 L W 1 390 390 [frEAA A 1
1698 A [TEN 7k i e 1 450 450  [ER—BA 1
1699 R M FRERE L W 1 450 450 LR PUBA 1
1700 A4 SRt BEKIE 5 e 1 450 450 SRt -LBA 1
1701 B A ERA S/ & A 1 390 390 BRI = BA 1
1702 =il fEE) R Z W 1 390 390 A AT A 1
1703 B AN IHE M o 5 e 1 390 390 [HE A\ BA 1
1704 R4 AR 25 R 5 e 2 450 900 XA\ BA 1
1705 B AIAE A bk 5’y e 1 390 390 LA Y BA 1
1706 B AR YRR 5 b 1 450 450 RAR\BA 1
1707 A HEAK pamed i 5 i 1 450 450 FHHAKABA 1
1708 B AAK TkikdE “ b 1 450 450 RARZSBA 1
1709 B AIAE LA REAL 5’y X 1 390 390 LR —BA 1
1710 B AT LIS “ b 1 390 390 A 2ERILEA 1
1711 A B 1R 5 i 1 390 390 LR IUBA 1
1712 B LA o k3 5 [ 1 390 390 pasican] 1
1713 A FERN [0 & e 2 450 900 FERN 1
1714 EAL HEA RO A = o 2 450 900 G RSIA 1
1715 i ] g 4 & i 1 390 390 HRBA 1
1716 BRI A TV 5’y W 1 390 390 B\ 1
1717 A faT A R L i 1 450 450 {5 A — B\ 1
1718 BRI ) BHtE I W 1 450 450 A ILBA 1
1719 A BN PHERH 5'e e 1 390 390 AR =B 1
1720 BRI ] E % e 1 390 390 26 AT YA 1
1721 A B BE045E L i 1 450 450 B NBA 1
1722 BRI SRt A I W 2 450 900 et = A 1
1723 A BN HHIE & e 1 450 450 BB 1PA 1
1724 B iz [ i 5 b 1 390 390 AR PUBA 1
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